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SYMBOLS & NOTATIONS

TYPE-I (i)

1. If + stands for division,  stands for multiplication, ' ' stands for

subtraction and - stands for addition, which one of the following is

correct?

A. 

B. 

C. 

D. 

' ÷ ' ×

18 ÷ 6 − 7 + 5 × 2 = 20

18 + 6 ÷ 7 × 5 − 2 = 18

18 × 6 + 7 ÷ 5 − 2 = 16

18 ÷ 6 × 7 + 5 − 2 = 22

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KBYg0QVQsmFl


Answer: B

Watch Video Solution

2. If '-' stands for division, '+' for multiplication,  for subtraction and 

for addition, then which one of the following equations is correct? (A)

 (B)  (C) 

 (D) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

÷ ×

18 ÷ 3 × 2 + 8 − 6 = 10 18 − 3 + 2 × 8 ÷ 6 = 14

18 − 3 + 2 × 8 + 6 = 17 18 × 3 + 2 + 8 − 6 = 15

18 ÷ 3 × 2 + 8 − 6 = 10

18 − 3 + 2 × 8 ÷ 6 = 14

18 − 3 ÷ 2 × 8 + 6 = 17

18 × 3 + 2 ÷ 8 − 6 = 15

https://dl.doubtnut.com/l/_KBYg0QVQsmFl
https://dl.doubtnut.com/l/_7LCwq4YW3T9B


3. In an imaginary mathe-matical operation '+' means multiplication, 'x'

means subtraction,  means addition and  means division. All other

rules in mathematical operation are the same as in the existing system.

Which one of the following gives the result of 

A. 160

B. 2370

C. 77

D. 240

Answer: C

Watch Video Solution

÷ −

175 − 25 ÷ 5 + 20 × 3 + 10 = ?

4. If '–' stands for division, '+' for multiplication, '-:' for subtraction and 'x'

for addition, which one of the following equations is correct?

https://dl.doubtnut.com/l/_cc5Zwms8xMTG
https://dl.doubtnut.com/l/_NbsH426H9PJd


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6 ÷ 20 × 12 + 7 − 1 = 70

6 + 20 − 12 ÷ 7 × 1 = 62

6 − 20 ÷ 12 × 7 + 1 = 57

6 + 20 − 12 ÷ 7 − 1 = 38

5. If '+' means '-','÷' means 'x', 'x' means '-' and '+' means '+' the

A. 1

B. 0

C. 10

D. 5

Answer: D

2 ÷ 6 × 6 ÷ 2 = ?

https://dl.doubtnut.com/l/_NbsH426H9PJd
https://dl.doubtnut.com/l/_hKyKQiOYpeTP


Watch Video Solution

6. If '+' stands for Multiplication, 'x' stands for Division, '-' stands for

Addition and '÷' stands for Subtraction, what would the following

equation stand for? 

A. 41

B. 19

C. 16

D. 18

Answer: C

Watch Video Solution

20 − 8 × 4 ÷ 3 + 2 = ?

7. If  means , means , , means  and

means , then what will be the value of the following expression? 

' × ' ' − ' ' − ' ' ÷ ' ' + ' ' × ' ' ÷ '

' + '

https://dl.doubtnut.com/l/_hKyKQiOYpeTP
https://dl.doubtnut.com/l/_jCe4qinsc6CM
https://dl.doubtnut.com/l/_A3ZdmiLU2C2P


A. 10

B. 19

C. 20

D. 9

Answer: C

Watch Video Solution

16 × 8 ÷ 4 − 3 + 9 = ?

8. If '+' means minus '-' means multiplication '-:' means plus, and 'x' means

division, 

A. 52

B. 48

C. 22

15 − 3 + 10 × 5 ÷ 5 = ?

https://dl.doubtnut.com/l/_A3ZdmiLU2C2P
https://dl.doubtnut.com/l/_S61kqnLb3JPi


D. 5

Answer: B

Watch Video Solution

9. If  stands for division,  stands for multiplication, 

stands for subtraction and 'x' for addition, then which of the following

equation is correct?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

' − ' ' ÷ ' ' + '

20 + 8 − 7 ÷ 6 × 4 = 25

20 − 5 ÷ 4 + 6 × 5 = 15

20 × 5 − 6 ÷ 7 + 4 = 28

20 ÷ 4 − 8 × 10 + 6 = 36

https://dl.doubtnut.com/l/_S61kqnLb3JPi
https://dl.doubtnut.com/l/_1xfVou9eZZ7U
https://dl.doubtnut.com/l/_QWWTLPUJoQ3h


10. If x stands for + and '-:' for -, find the value of the following equation.

A. 46

B. 36

C. 62

D. 89

Answer: A

Watch Video Solution

39 × 23 ÷ 21 × 5

11. If + stands for division,  stands for multiplication, ' ' stands for

subtraction and - stands for addition, which one of the following is

correct?

A. 

B. 

' ÷ ' ×

18 ÷ 6 − 7 + 5 × 2 = 20

18 + 6 ÷ 7 × 5 − 2 = 18

https://dl.doubtnut.com/l/_QWWTLPUJoQ3h
https://dl.doubtnut.com/l/_tpEPst2vdru6


C. 

D. 

Answer: B

Watch Video Solution

18 × 6 + 7 ÷ 5 − 2 = 16

18 ÷ 6 × 7 + 5 − 2 = 22

12. If + stands for division', x stands for 'addition', - stands for 'multi

plication' and.  stands for 'subtraction', then which of the following

equations is correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

÷

36 × 6 + 7 ÷ 2 − 6 = 20

36 + 6 − 3 × 5 ÷ 3 = 24

36 ÷ 6 + 3 × 5 − 3 = 45

36 − 6 + 3 × 5 ÷ 3 = 74

https://dl.doubtnut.com/l/_tpEPst2vdru6
https://dl.doubtnut.com/l/_IaHD7aEx9k4A


13. If '+' means 'minus', '-' means 'multiply', '÷' means 'plus' and 'x' means

'divide', then 

10 x 5 ÷ 3 - 2 + 3 = ? 

1) 5 

2) 53/3 

3) 21 

4) 36

A. 5

B. 21

C. 

D. 18

Answer: A

Watch Video Solution

53

3

https://dl.doubtnut.com/l/_IaHD7aEx9k4A
https://dl.doubtnut.com/l/_qAjU6ljbDFHm


14. In the following question you have to identify the correct response

from the given premises stated according to following symbols. If +

means , - means x,  means + and x means -, then 


A. 54

B. 66

C. 186

D. 48

Answer: B

Watch Video Solution

÷ ÷

63 × 24 + 8 ÷ 4 + 2 − 3 = ?

15. The following equation becomes interchange either the sign or the

numbers as indicated in the question. Find the correct alternative. Given

equation: 

(16 − 4) × 6 ÷ 2 + 8 = 30

https://dl.doubtnut.com/l/_9p0x8DmlcuN6
https://dl.doubtnut.com/l/_qFsDoD4pXGP5


A. 4 and 2

B.  and -

C. 16 and 6

D.  and +

Answer: B

Watch Video Solution

÷

−

16. If- 'stands for division'+' stands for subtraction,  stands for

multiplication,  stands for addition, then which one of the following

equations is correct ?

A. 

B. 

C. 

D. 

' ÷ '

' × '

70 − 2 + 4 ÷ 5 × 6 = 44

70 − 2 + 4 ÷ 5 × 6 = 21

70 − 2 + 4 ÷ 5 × 6 = 341

70 − 2 + 4 ÷ 5 × 6 = 36

https://dl.doubtnut.com/l/_qFsDoD4pXGP5
https://dl.doubtnut.com/l/_jBUm019WktSk


Answer: B

Watch Video Solution

17. If - stands for division, + for multiplication,  for subtraction and 

for addition, then which one of the following equations is correct?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

÷ ×

19 + 5 − 4 × 2 ÷ 4 = 11

19 × 5 − 4 ÷ 2 + 4 = 18

19 ÷ 5 + 4 − 2 × 4 = 13

19 ÷ 5 + 4 + 2 ÷ 4 = 20

18. If '-' stands for  '+' stands for 'x',  for '-'and 'x' for '+' , which

one of the following equations in correct?

' ÷ ' ' ÷ '

https://dl.doubtnut.com/l/_jBUm019WktSk
https://dl.doubtnut.com/l/_cBxysgctL8Bm
https://dl.doubtnut.com/l/_XVnpXfD4uDr4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

30 − 6 + 5 × 4 ÷ 2 = 27

30 + 6 − 5 ÷ 4 × 2 = 30

30 × 6 ÷ 5 − 4 + 2 = 32

30 + 6 × 5 + 4 − 2 = 40

19. If 'x' means additon, '-' means division, 'div' means subtraction and '+'

means multiplicaton, then which of the equation is correct?

A. 

B. 

C. 

D. 

Answer: A

16 + 5 − 10 × 4 ÷ 3 = 9

16 − 5 × 10 ÷ 4 + 3 = 12

16 + 5 ÷ 10 × 4 − 3 = 9

16 × 5 + 10 ÷ 4 − 3 = 19

https://dl.doubtnut.com/l/_XVnpXfD4uDr4
https://dl.doubtnut.com/l/_MAA5Qmq0GoIT


Watch Video Solution

20. If  stands for division, '+' for multiplication, ' ' for subtraction and

'x' for addition, which one of the following equations is correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

− ÷

24 ÷ 8 − 4 + 2 × 3 = 16

24 − 8 + 4 × 2 ÷ 3 = 12

24 × 8 − 4 ÷ 2 + 3 = 17

24 + 8 − 4 × 2 ÷ 3 = 47

21. If  means plus, x means subtraction, then 


 is equal to :

A. 96

÷

(15 × 9) ÷ (12 × 4) × (4 ÷ 4)

https://dl.doubtnut.com/l/_MAA5Qmq0GoIT
https://dl.doubtnut.com/l/_pV3LyiobELlK
https://dl.doubtnut.com/l/_d2JaTGbTaMfO


B. 6

C. 

D. 

Answer: B

Watch Video Solution

3

128

143
4

22. If + means -,- means x, means +, x means  find the value of 

A. 22

B. 35

C. 9

D. 

Answer: A

Watch Video Solution

÷ ÷ ,

15 × 3 ÷ 4 − 6 + 7?

175/3

https://dl.doubtnut.com/l/_d2JaTGbTaMfO
https://dl.doubtnut.com/l/_jiaK6oJsIJEZ


23. Which of the following options is correct ?

A. 62

B. 10

C. 2

D. 26

Answer: D

Watch Video Solution

24. If ' :' stands for addition, '-' stands for multiplication, 'x' stands for

subtraction and '+' stands for division, which of the responses does not

hold good?

−

https://dl.doubtnut.com/l/_jiaK6oJsIJEZ
https://dl.doubtnut.com/l/_aU8LYqCaXn3J
https://dl.doubtnut.com/l/_Zz0xBvgwaN6G


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10 × 4 = 06

10 − 4 = 40

10 + 5 = 50

10 ÷ 5 = 15

25. If x stands for + .
÷ stands for - .
 - stands for x .
+ stands for ÷ . ,then

find the value of following equation. 

=?

A. 9

B. 12

C. 8

D. 15

54 ÷ 16 − 3 × 6 + 2

https://dl.doubtnut.com/l/_Zz0xBvgwaN6G
https://dl.doubtnut.com/l/_0DKh4KgRcsb0


Answer: A

Watch Video Solution

26. If '+'stands for 'subtraction' and ' ' stands for 'addition' and '-' stands

for 'multiplication' and 'x' stands for division, then which of the following

equations is correct?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

÷

56 + 12 × 34 − 12 = 102

8 + 44 − 5 + 25 = 203

112 × 44 − 12 + 10 = 46

9 ÷ 64 − 2 × 6 = 54

https://dl.doubtnut.com/l/_0DKh4KgRcsb0
https://dl.doubtnut.com/l/_9zecFxbc7jFC


27. If '-' stands for division, '+' stands for multiplication,' ' stands for

subtraction and 'x' stands for addition, then which one of the equation is

correct?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

÷

30 + 5 − 12 ÷ 8 × 12 = 70

30 − 5 + 12 ÷ 8 × 12 = 76

30 × 5 − 12 + 8 ÷ 12 = 60

30 ÷ 5 × 12 + 8 − 12 = 24

https://dl.doubtnut.com/l/_B9OPaRXP1mAf


28. Which of the following options is correct ?

A. 20

B. 7

C. 108

D. 22

Answer: D

Watch Video Solution

29. If 'x' stands for minus, '+' stands for multiplication, '-' stands for plus,

then which one of the following is correct? 

https://dl.doubtnut.com/l/_q9sTfzKxnzqV
https://dl.doubtnut.com/l/_R6zatmUXFkfJ


A. 58

B. 64

C. 60

D. 12

Answer: C

Watch Video Solution

6 + (3 × 1) + 5 = ?

30. If '+' means ,  means '-', '-' means 'x', 'x' means '+', then 


A. 

B. 4

C. 2

D. 8

÷ ÷

12 + 6 ÷ 3 − 2 × 8 = ?

−2

https://dl.doubtnut.com/l/_R6zatmUXFkfJ
https://dl.doubtnut.com/l/_8u5I5zAt2Xj8


Answer: B

Watch Video Solution

31. If  stands for ,  for ,  for  and ÷ for , find the value

of 

A. 220

B. 376

C. 478

D. 488

Answer: C

Watch Video Solution

+ × − ÷ × − +

26 + 74 − 4 × 5 ÷ 2

https://dl.doubtnut.com/l/_8u5I5zAt2Xj8
https://dl.doubtnut.com/l/_g4UQPVyPpjVk


32. Which of the following options is correct ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

46 − 10 + 10 × 5 = 92

265 + 11 − 2 × 14 = 22

66 × 3 − 11 + 12 = 230

2 − 14 × 4 ÷ 11 = 16

https://dl.doubtnut.com/l/_h2FzNu8AoYgN


33. 


8+4-?

A. 4

B. 32

C. 12

D. 2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_YCofGftRUr8z


34. If '-' means addition, '+' means subtraction, 'x' means division and

''-:"means multiplication, then 

A. 3

B. 12

C. 15

D. 9

Answer: C

Watch Video Solution

7 − 10 × 5 ÷ 6 + 4 = ?

35. Which of the following options is correct ?

https://dl.doubtnut.com/l/_CWXfSsdgQJdj
https://dl.doubtnut.com/l/_3MYva8J4Mayi


A. 28

B. 32

C. 34

D. 36

Answer: C

Watch Video Solution

36. If '+' means x,'-' means +, 'x' means  and  means -, then 

 has a value of

A. 35

B. 45

C. 30

D. 8

Answer: D

' ÷ ' ' ÷ '

10 + 5 × 10 ÷ 2 − 5

https://dl.doubtnut.com/l/_3MYva8J4Mayi
https://dl.doubtnut.com/l/_VMnHV1Dn5CUq


Watch Video Solution

37. If '+' stands for division, ' ' stands for multiplication, multiplication

for addition, which one of the following equations is correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

÷

10 ÷ 5 + 4 = 6

10 − 4 + 2 = 6

10 + 2 − 5 = 6

10 + 2 × 1 = 6

38. If '+' stands for ' ', stands '+',  stands for  and ' '

stands for  then which of the following statements is correct?

A. 

÷ ' × ' ' − ' ' × ' ÷

' − '

36 × 6 + 7 ÷ 2 − 6 = 20

https://dl.doubtnut.com/l/_VMnHV1Dn5CUq
https://dl.doubtnut.com/l/_XdRblKTHRuUW
https://dl.doubtnut.com/l/_5uQBCY9dcWaw


B. 

C. 

D. 

Answer: D

Watch Video Solution

36 + 6 ÷ 3 × 5 − 3 = 45

36 ÷ 6 − 3 × 5 + 3 = 24

36 − 6 + 3 × 5 ÷ 3 = 74

39. Identify the correct response from the given premises stated

according to following symbols. 

If '-' stands for division 

'+' stands for multiplication. 

' ' stands for subtraction 


'x' stands for addition Which one of the equations is correct?

A. 

B. 

C. 

÷

18 + 14 − 24 × 12 ÷ 16 = 12

16 × 14 − 24 ÷ 18 + 12 = − 24

24 − 12 + 12 ÷ 16 × 18 = 26

https://dl.doubtnut.com/l/_5uQBCY9dcWaw
https://dl.doubtnut.com/l/_7XWPXquyzGsX


D. 

Answer: C

Watch Video Solution

18 ÷ 16 + 12 × 18 ÷ 12 = 24

40. If 'x' means '-', '-' means 'x' , '+' means '÷' and '÷' means '+', then 

A. 1800

B. 113

C. 2000

D. 123

Answer: B

Watch Video Solution

(15 − 10) ÷ (130 + 10) × 50 = ?

https://dl.doubtnut.com/l/_7XWPXquyzGsX
https://dl.doubtnut.com/l/_uaH9tTfRmZoN


41. If '+' means , '-' means  means '+' means and 

means '-' then 

A. 42

B. 18

C. 40

D. 2

Answer: A

Watch Video Solution

' ÷ ' ' × , ' ÷ ' ' × '

36 × 12 + 4 ÷ 6 + 2 − 3 = ?

42. If T means 'x', U means -, V means  and W means '+', then what

will be the value of the following expression. 

(50 V 2) W (28 T 4)

A. 142

B. 158

' ÷ '

https://dl.doubtnut.com/l/_pCw4rQn5HL0p
https://dl.doubtnut.com/l/_rFGIqrXwq6ed


C. 137

D. 160

Answer: C

Watch Video Solution

43. If '-' stands for  stands for  stands for '-' and 

 stands for '+' find out which one is correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

' ÷ ' , ' + ' ' × ' , ' ÷ '

' × '

49 × 7 + 3 ÷ 5 − 8 = 16

49 ÷ 7 × 3 + 5 − 8 = 26

49 + 7 − 3 × 5 ÷ 8 = 20

49 − 7 + 3 ÷ 5 × 8 = 24

https://dl.doubtnut.com/l/_rFGIqrXwq6ed
https://dl.doubtnut.com/l/_GbacjbIKX0pY
https://dl.doubtnut.com/l/_a6uWWtw0B759


44. If '+' means 'x', - means ,'x' means '+' and  means '-' then 

A. 20

B. 50

C. 30

D. 40

Watch Video Solution

' ÷ ' ' ÷ '

25 × 15 − 3 ÷ 2 + 5 = ?

https://dl.doubtnut.com/l/_a6uWWtw0B759


45. Which of the following options is correct ?

Watch Video Solution

46. Which of the following options is correct ?

A. 77

https://dl.doubtnut.com/l/_eOWPvXqA1U38
https://dl.doubtnut.com/l/_8RqGWVkZ6WZf


B. 160

C. 240

D. 2370

Answer: A

Watch Video Solution

47. If '+' means  means '-', '-' means 'x','x' means '+' then 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

' ÷ ' , ' ÷ '

8 + 2 ÷ 3 − 4 × 6 = ?

−12

−2

−10

−15

https://dl.doubtnut.com/l/_8RqGWVkZ6WZf
https://dl.doubtnut.com/l/_5Jpzg3B5TGUa


48. If  means ,  means ,  means  and 

means  then 


A. 80

B. 60

C. 40

D. 0

Answer: C

Watch Video Solution

÷ ' − ' ' − ' ' × ' ' × ' ' + ' ' + '

' ÷ '

20 × 60 ÷ 40 − 20 + 10 = ?

49. If '+' means , 'x' means '+','-', means 'x' and  means '-' then

which of the following equations is correct?

A. 

' ÷ ' ' ÷ '

36 × 6 + 3 − 2 < 20

https://dl.doubtnut.com/l/_5Jpzg3B5TGUa
https://dl.doubtnut.com/l/_gWqZQv94zzMQ
https://dl.doubtnut.com/l/_tOKSHbX9ZgGt


B. 

C. 

D. 

Watch Video Solution

36 × 6 + 3 × 2 > 20

36 + 6 × 3 + 2 = 20

36 + 6 − 3 × 2 = 20

50. If – stands for addition,  for multiplication x for subtraction, and +

for division, then which of the following is correct ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

÷

25 − 15 + 5 ÷ 4 × 16 = 21

25 + 11 − 4 ÷ 10 × 6 = 20

25 × 12 − 14 ÷ 4 + 6 = 16

25 − 12 + 14 ÷ 2 × 4 = 15

https://dl.doubtnut.com/l/_tOKSHbX9ZgGt
https://dl.doubtnut.com/l/_coEcTczseBuh


51. Which of the following interchange of signs would make the given

equation correct ? 

A.  and 

B.  and 

C.  and 

D.  and -

Answer: A

Watch Video Solution

5 + 3 × 8 ÷ 12 − 4 = 26

− ÷

+ ×

+ ÷

+

52. Put the correct mathematical signs in the following equation from the

given alternatives. 

A. 

33?––11?––3?––6?–– = 6

−, × , +

https://dl.doubtnut.com/l/_eKpqOR9Op67f
https://dl.doubtnut.com/l/_juapNIt95fv7


B. 

C. 

D. 

Answer: C

Watch Video Solution

+, − , ×

× , + , −

÷ , × , ×

53. If  means '+',  means '-', + means  and '-' means 

then what should be the value of the given equation ? 

A. 33

B. 15

C. 30

D. 4

Answer: D

' × ' ' ÷ ' ' ÷ ' ' × '

14 × 4 ÷ 70 + 10 − 2 = ?

https://dl.doubtnut.com/l/_juapNIt95fv7
https://dl.doubtnut.com/l/_G1kf65YICFPu


Watch Video Solution

54. If + means ÷, - means  means + and  means -, then which of

the alternatives is correct ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

× , × ÷

5 × 8 − 5 + 5 ÷ 1 = 12

55 − 2 + 10 ÷ 1 × 5 = 16

38 ÷ 10 − 5 + 7 × 8 = 25

10 − 12 + 2 ÷ 30 × 1 = 10

55. If '-' stands for '+','+' stands for  stands for '-' then which

one of the following is not correct ?

A. 

' × ' , ' × '

22 + 7 − 3 × 9 = 148

https://dl.doubtnut.com/l/_G1kf65YICFPu
https://dl.doubtnut.com/l/_63Y2ZXYquwyp
https://dl.doubtnut.com/l/_VafO8kx6oYxq


B. 

C. 

D. 

Answer: C

Watch Video Solution

33 × 5 − 10 + 20 = 228

7 + 28 − 3 × 52 = 127

44 − 9 + 6 × 11 = 87

56. If '+' stand for 'division' ,  stands for addition ','-' stands for

multiplicaltion,  stands for subtraction, which of the following

equations is correct?

A. 

B. 

C. 

D. 

Answer: B

' × '

' ÷ '

5 − 3 + 2 × 4 ÷ 8 = 2

5 × 3 + 2 − 4 × 8 = 19

5 ÷ 3 × 2 − 4 + 8 = 8

5 + 3 × 2 ÷ 4 − 8 = 4

https://dl.doubtnut.com/l/_VafO8kx6oYxq
https://dl.doubtnut.com/l/_9h5MtjlSD60T


Watch Video Solution

57. If '+' means '÷' , '-' means '+' ,  means '-' and '÷' means  then , 

A. 4

B. 14

C. 28

D. 30

Answer: D

Watch Video Solution

' × ' ' × '

8 ÷ 4 − 6 + 3 × 4 = ?

58. If  means  ,  means  means  and 

means  then 

A. 54

' + ' ' − ' − ' × ' , ' × ' ' ÷ ' ' ÷ '

' + ' 25 × 5 ÷ 30 + 8 − 2 = ?

https://dl.doubtnut.com/l/_9h5MtjlSD60T
https://dl.doubtnut.com/l/_J2dYQszpPYcR
https://dl.doubtnut.com/l/_0TnjLcUFO8mm


B. 15

C. 18

D. 19

Answer: D

Watch Video Solution

59. If '-' stands for addition, '+' stands for subtraction, '÷
 ' stands for

multiplication and  stands for division, then which one of the

following equation is correct ?

A. 

B. 

C. 

D. 

Answer: A

' × '

50 × 5 ÷ 2 − 30 + 25 = 25

50 − 30 + 5 ÷ 2 × 30 = 25

40 + 35 × 2 − 50 ÷ 30 = 95

30 × 2 − 25 + 50 ÷ 5 = 100

https://dl.doubtnut.com/l/_0TnjLcUFO8mm
https://dl.doubtnut.com/l/_rk1Iy62IgNSh


Watch Video Solution

60. If + stands for division ,  stands for addition, - stands for

multiplication,  stands for subtraction, which of the following is

correct ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

×

÷

15 ÷ 5 × 2 − 6 + 3 = 28

15 × 5 + 2 − 6 ÷ 3 = 56.5

15 + 5 − 2 ÷ 6 × 3 = 3

15 − 5 + 2 × 6 ÷ 3 = 41

61. If '-' stands for division' '+' stands for multiplication',  stands for

subtraction  stands for addition', then which one of the following

equations is correct ?

' ÷ '

' × '

https://dl.doubtnut.com/l/_rk1Iy62IgNSh
https://dl.doubtnut.com/l/_AeotMp2zPULJ
https://dl.doubtnut.com/l/_rIsXkr0KtPfC


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

36 × 4 − 12 + 5 ÷ 3 = 420

52 ÷ 4 + 5 × 8 − 2 = 36

36 − 12 × 6 ÷ 3 + 4 = 60

43 × 7 ÷ 5 + 4 − 8 = 25

62. If a represents  b represents +, c represents - and d represents 

then 

A. 20

B. 6

C. 17

D. 19

Answer: C

÷ ×

24a6d4b9c8 = ?

https://dl.doubtnut.com/l/_rIsXkr0KtPfC
https://dl.doubtnut.com/l/_A5CXchcaCxd3


Watch Video Solution

63. If  means  means  means  and 

 means '-' then:


A. 11

B. 15

C. 10

D. 12

Answer: B

Watch Video Solution

' × ' ' + ' , ' + ' ' ÷ ' , ' − ' ' × '

' ÷ '

= 6 × 4 − 5 + 2 ÷ 1

64. If, + stands for division,  stands for addition, - stands for

multiplication, ÷ stands for subtraction, which of the following is correct?

×

https://dl.doubtnut.com/l/_A5CXchcaCxd3
https://dl.doubtnut.com/l/_gOXvCZqg8rMr
https://dl.doubtnut.com/l/_zOgSnLV4MA5z


A. c

B. d

C. b

D. a

Answer: C

Watch Video Solution

65. If + = , - = ÷,  = +, ÷ = - then which is the correct equation out of

following?

A. 

B. 

C. 

D. 

Answer: C

× ×

18 − 6 × 7 ÷ 2 + 8 = 63

18 ÷ 6 + 4 − 2 ÷ 3 = 22

18 + 6 − 4 × 2 ÷ 3 = 26

18 × 6 − 4 + 7 × 8 = 47

https://dl.doubtnut.com/l/_zOgSnLV4MA5z
https://dl.doubtnut.com/l/_MwzMGHjrjmCi


Watch Video Solution

66. If  means ,  means ,  means  and 

means , then what will be the value of  ?

A. 18

B. 24

C. 16

D. 12

Answer: C

Watch Video Solution

' + ' ' × ' ' − ' ' ÷ ' ' × ' ' + ' ' ÷ '

'
16 ÷ 64 − 8 × 4 + 2

67. If + stands for * :- stands for # ,  stands for @ and  stands for % ,

then which of the following statements is correct ?

A. s

× ÷

256 % 16  @5#28 = 52

https://dl.doubtnut.com/l/_MwzMGHjrjmCi
https://dl.doubtnut.com/l/_fuWqE7w1UkTN
https://dl.doubtnut.com/l/_pDhPRBZl18JQ


B. 

C. 

D. 

Answer: B

Watch Video Solution

256#16 % 5#28 = 120

256@5 % 16 ∗ 28 = 408

256#16  @ 5 % 28 = 80

68. If  stands for  stands for -,- stands for + and + stands for 

then 

 


(Do chronologically and not according to BODMAS rule)

A. 9

B. 14

C. 16

D. 4

÷ × , × ÷

48 + 6 − 12 ÷ 2 + 10 = ?

https://dl.doubtnut.com/l/_pDhPRBZl18JQ
https://dl.doubtnut.com/l/_naR9zZHbqUMw


Answer: D

Watch Video Solution

69. Select the set of symbols which can be fitted correctly in the equation.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5_ 3_ 8_ 4_ 2 = 21

+, × , + , ÷

× , + , − , ÷

−, × , + , ÷

+, × , − , ÷

70. If a means + b means , c means , d means -, then 20 a 10 b 45 c 5

d 12=?

× ÷

https://dl.doubtnut.com/l/_naR9zZHbqUMw
https://dl.doubtnut.com/l/_7r2DvEcLDTDQ
https://dl.doubtnut.com/l/_xDeWlGLaTcc5


A. 88

B. 74

C. 98

D. 68

Answer: C

Watch Video Solution

71. If + stands for division,  stands for addition, - stands for

multiplication,  stands for subtraction which of the following is correct

?

A. 

B. 

C. 

D. 

×

÷

25 × 3 − 7 ÷ 8 + 12 = 18

25 + 3 × 7 − 8 ÷ 12 = 10.89

25 − 3 ÷ 7 × 8 + 12 = 132

25 ÷ 3 × 7 − 8 + 12 = 26.62

https://dl.doubtnut.com/l/_xDeWlGLaTcc5
https://dl.doubtnut.com/l/_ds38dgnOIH4b


Watch Video Solution

72. Insert the arithmetical operations in the following numerical figure

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4_ 3_ 4 = 48

+ +

+ −

× +

× ×

73. If the given interchange are made in signs and numbers which one of

the following equation is true ? 

(Sign :  and +, Numbers : 6 and 5)÷

https://dl.doubtnut.com/l/_ds38dgnOIH4b
https://dl.doubtnut.com/l/_eFgfK7q4qNY7
https://dl.doubtnut.com/l/_12GKn30zUMjl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

18 + 6 ÷ 5 = 9.6

26 ÷ 5 + 6 = 6.4

5 ÷ 6 + 80 = 5.8

90 + 5 ÷ 6 = 8.6

74. If '-' stands for addition '+' for multiplication  for subtraction and

 for division which one of the following equations is correct?

A. 

B. 

C. 

D. 

Answer: B

' ÷ '

' × '

5 + 2 − 12 ÷ 6 × 2 = 13

5 + 2 − 12 × 6 ÷ 2 = 10

5 ÷ 2 + 12 × 6 − 2 = 4

5 − 2 + 12 × 6 ÷ 2 = 27

https://dl.doubtnut.com/l/_12GKn30zUMjl
https://dl.doubtnut.com/l/_cVUE0FHYoBoS


Watch Video Solution

75. If P denotes  Q denotes  R denotes '+' and S denotes '-' then

16Q12P6R5S4=?

A. 31

B. 32

C. 33

D. 30

Answer: C

Watch Video Solution

' ÷ ' ' × '

76. If  stands for  stands for +,+ stands for -, and - stands for 

, then what is the value of 

A. 100

× ÷ , ÷

× (30 + 20) − 5(7 ÷ 3) × 25 = ?

https://dl.doubtnut.com/l/_cVUE0FHYoBoS
https://dl.doubtnut.com/l/_nQPFRLoV6bik
https://dl.doubtnut.com/l/_HCvDx6Dp4sHl


B. 10

C. 20

D. 25

Answer: C

Watch Video Solution

77. If + means  means -,- means  means +, then 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

÷ , ÷ × , ×

12 − 8 × 6 − 4 ÷ 6 + 3 = ?

−112

+118

−33

+92

https://dl.doubtnut.com/l/_HCvDx6Dp4sHl
https://dl.doubtnut.com/l/_UifoqVc0c8V2


78. If + means  means , and  means +, then following will be

: 

A. 128

B. 160

C. 136

D. 144

Answer: C

Watch Video Solution

÷ , ÷ × ×

64 + 8 × 32 ÷ 4

79. If '-' denotes '+','+' denotes"  'x' ,denotes -:  denotes '-' 

`

A. 15

B. 14.5

' × , , ÷

27 × 3 ÷ 6 + 9 − 8 = ?

https://dl.doubtnut.com/l/_UifoqVc0c8V2
https://dl.doubtnut.com/l/_yEsqpUFiIhTc
https://dl.doubtnut.com/l/_IOeK574nrQ5P


C. 

D. 

Answer: C

Watch Video Solution

−37

3.5

80. What will be the correct mathematical signs that can be intserted in

the following ? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

4_ 6_ 2_ 4_ 8 = 16

− × + ÷

÷ + × −

+ ÷ − ×

× ÷ − +

https://dl.doubtnut.com/l/_IOeK574nrQ5P
https://dl.doubtnut.com/l/_X9Qjzhkje3cd


81. In a certain code 0,1,2 ………… 9 is coded as a,b,c ……….. j then find

A. cb

B. d

C. df

D. be

Answer: A

Watch Video Solution

baf ÷ bf × d

82. Which of the following interchange of signs would make the given

equation correct? 

A.  and 

5 + 3 × 8 − 12 ÷ 4 = 3

− ÷

https://dl.doubtnut.com/l/_X9Qjzhkje3cd
https://dl.doubtnut.com/l/_Wh4oyIA6L2L0
https://dl.doubtnut.com/l/_oPmpvIt8hiAx


B.  and 

C.  and 

D.  and -

Answer: A

Watch Video Solution

+ ×

+ ÷

+

83. If '+' stands for division,  stands for addition, '-' stands for

multiplicaltion,  stands for subtraction, then which of the following

equations is correct?

A. 

B. 

C. 

D. 

Answer: D

' × '

' ÷ '

33 × 4 − 5 + 6 ÷ 2 = 26

33 ÷ 4 × 5 + 6 − 2 = 30

33 − 4 + 5 ÷ 6 × 2 = 24

33 − 4 ÷ 5 × 6 + 2 = 130

https://dl.doubtnut.com/l/_oPmpvIt8hiAx
https://dl.doubtnut.com/l/_yYWtPnlA7mSa


Watch Video Solution

84. If 'x' means additon, '-' means division, 'div' means subtraction and '+'

means multiplicaton, then which of the equation is correct?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

16 × 5 ÷ 10 + 4 − 3 = 19

16 + 5 ÷ 10 × 4 − 3 = 9

16 + 5 − 10 × 4 ÷ 3 = 9

16 − 5 × 10 ÷ 4 + 3 = 12

85. If '+' is  is '+',  is  and  is '-', then answer

the following questions based on this information. 

' × ' , ' − ' ' × ' ' ÷ ' ' ÷ '

9 − 4 + 2 ÷ 16 × 2

https://dl.doubtnut.com/l/_yYWtPnlA7mSa
https://dl.doubtnut.com/l/_1qyl8jVWFKxC
https://dl.doubtnut.com/l/_Ct23sYiAjMTk


A. 71

B. 62

C. 9

D. 24

Answer: C

Watch Video Solution

86. Identify the symbols to be inserted to make the epression correct.

A. 

B. 

C. 

D. 

Answer: C

92?––4?––2?––184

× + ×

= × +

× ÷ =

+ = ×

https://dl.doubtnut.com/l/_Ct23sYiAjMTk
https://dl.doubtnut.com/l/_B6wypLvOhjLW


Watch Video Solution

87. Study the following statements and answer the questions accordingly.

 stands for division 


 stands for multiplication 


 stands for addition 


Which one of the following is correct?

A. 

B. 

C. 

D. 

View Text Solution

' + '

' ÷ '

' × '

30 × 40 + 8 − 70 ÷ 40 = 180

30 + 40 ÷ 8 × 70 − 40 = 340

30 − 40 × 8 ÷ 70 + 40 = 180

30 + 40 + 8 × 70 − 40 = 340

88. If  means addition '-' means division', / means subtraction and '+'

means multiplication', then which of the equation is correct?

' × '

https://dl.doubtnut.com/l/_B6wypLvOhjLW
https://dl.doubtnut.com/l/_INHMggHjrte8
https://dl.doubtnut.com/l/_bxLZxKnus43g


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

25 + 10 − 5/10 × 3 = 43

25 − 10 × 5 + 10/3 = 72

25 × 10/5 + 10 − 3 = 12

25/10 + 5 × 10/3 = 18

89. If '+' stands for multiplication, '-' stands for addition  stands for

division then what is the value of 

A. 73

B. 356

C. 1156

D. 1352

Answer: C

' × '

128 + 9 − 16 × 4 = ?

https://dl.doubtnut.com/l/_bxLZxKnus43g
https://dl.doubtnut.com/l/_qx3x4IrjYOER


Watch Video Solution

90. If + stands for division,  stands for multiplication, ' ' stands for

subtraction and - stands for addition, which one of the following is

correct?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

' ÷ ' ×

18 × 6 + 7 ÷ 5 − 2 = 16

18 ÷ 6 × 7 + 5 − 2 = 22

18 ÷ 6 − 7 + 5 × 2 = 20

18 + 6 ÷ 7 × 5 − 2 = 18

91. If '+' stands for multiplication '-' stands for division,  stands for

addition,  stands for subtraction, then which one of the following

equations is correct?

' × '

' ÷ '

https://dl.doubtnut.com/l/_qx3x4IrjYOER
https://dl.doubtnut.com/l/_cWVpOASYHzx8
https://dl.doubtnut.com/l/_XNkZUKPMJwmd


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

12 × 5 + 4 − 5 ÷ 4 = 20

12 ÷ 5 + 4 − 5 × 4 = 18

12 + 5 − 4 × 5 ÷ 4 = 16

12 ÷ 5 − 4 × 5 + 4 = 22

92. If  means ,  means ,  means  and 

means  then what is the value of : 


A. 1500

B. 2100

C. 1200

D. 4800

' ÷ ' ' + ' ' + ' ' × ' ' × ' ' − ' ' − '

' ÷ '

[(1440 − 36 × 16) + 15] + 5 ÷ (144 − 12) + 25 = ?

https://dl.doubtnut.com/l/_XNkZUKPMJwmd
https://dl.doubtnut.com/l/_pi484PLps9Ez


Answer: B

Watch Video Solution

93. If + means  means  means  means -, then what is

the value of 

A. 380

B. 56

C. 180

D. 

Answer: A

Watch Video Solution

× , − +, × ÷ ÷

50 + 10 − 50 × 10 ÷ 125?

−125

https://dl.doubtnut.com/l/_pi484PLps9Ez
https://dl.doubtnut.com/l/_YNvwCMaPmcnB


94. If  means , means , , means  and

means , then what will be the value of the following expression? 

A. 10

B. 19

C. 20

D. 9

Answer: C

Watch Video Solution

' × ' ' − ' ' − ' ' ÷ ' ' + ' ' × ' ' ÷ '

' + '

16 × 8 ÷ 4 − 3 + 9 = ?

95. If '-' stands for division, '+' for multiplication,  for subtraction and 

 for addition, which one of the following equations is correct

A. 

B. 

' ÷

' × '

18 ÷ 3 × 2 + 8 − 6 = 10

18 − 3 + 2 × 8 ÷ 6 = 14

https://dl.doubtnut.com/l/_eepcn5D84VfT
https://dl.doubtnut.com/l/_443vZcJRmMle


C. 

D. 

Answer: B

Watch Video Solution

18 − 3 + 2 × 8 ÷ 6 = 14

18 × 3 + 2 ÷ 8 − 6 = 15

96. If '+' means  means  means '-' and 

means '+' then find the value of the following equation. 

A. 85

B. 76

C. 87

D. 75

Answer: A

Watch Video Solution

' × ' , ' − ' ' ÷ ' , ' × ' ' ÷ '

6 + 64 − 8 ÷ 45 × 8

https://dl.doubtnut.com/l/_443vZcJRmMle
https://dl.doubtnut.com/l/_CUhrDhbfY8z8


97. if '+' means '_' and '-' and  means  means

'+' then  


यदि '+ ' का अर्थ है । '-', '-' का अर्थ है  का अर्थ है। और  का अर्थ है 

 तो 

A. 1

B. 0

C. 10

D. 5

Answer: D

Watch Video Solution

' × ' , ' × ' ' ÷ ' and ' ÷ '

2 ÷ 6 × 6 ÷ 2 = ?

' × ' , ' × ' ' ÷ '

' ÷ ' 2 ÷ 6 × 6 ÷ 2 = ?

98. If + maans  means -, - means  and  means +, what will be

the value of the following expression: 

÷ , ÷ × ×

8 + 4 ÷ 3 × 5 − 9 = ?

https://dl.doubtnut.com/l/_CUhrDhbfY8z8
https://dl.doubtnut.com/l/_I9luYR1ryLwM
https://dl.doubtnut.com/l/_5bcC56lTAyie


A. 44

B. 53

C. 62

D. 64

Answer: A

Watch Video Solution

99. If  means -, + means  means + and - means , then what is

the value of the given expression? 

A. 77

B. 160

C. 240

D. 2370

× × , ÷ ÷

175 − 25 ÷ 5 + 20 × 3 + 10 = ?

https://dl.doubtnut.com/l/_5bcC56lTAyie
https://dl.doubtnut.com/l/_IYzyCz7vYSHc


Answer: A

Watch Video Solution

100. If-stands for division, + for multiplication,  for subtrac tion, x for

addition, then which of the following equations is correct? 

अगर (-) का मतलब  का मतलब  का मतलब (-),  का

मतलब (+) हो, तो सही समीकरण ज्ञात कीजिए।

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

÷

( ÷ ), ( + ) ( × ), ( ÷ ) ( × )

20 − 4 + 6 ÷ 9 × 4 = 25

20 + 6 − 4 × 9 ÷ 6 = 32

20 ÷ 9 × 9 − 4 + 6 = 33

20 × 4 − 6 − 4 + 9 = 20

https://dl.doubtnut.com/l/_IYzyCz7vYSHc
https://dl.doubtnut.com/l/_mLIbrE3B5A0w


101. In a certain code language,  respresnts ,  represents 

,  represents  and  represents . Find out the answer

to the answer to the following question : 

?

A. 58

B. 62

C. 158

D. 205

Answer: A

Watch Video Solution

' ∘ ' ' + ' ' ⊕ '

' − ' ' a' ' + ' ' θ' 'X'

8900a100 ⊕ 564 ⊕ 121a11 =

102. If (-) stands for division, (+) stands for multiplication,  stands for

subtraction and  stands for addition, which one of the following

equation is correct?

( ÷ )

( × )

https://dl.doubtnut.com/l/_7HnYaHT0dpPy
https://dl.doubtnut.com/l/_7XtUcf6qBL1q


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

100 + 5 − 10 × 250 ÷ 200 = 100

200 + 10 − 20 × 200 ÷ 100 = 150

50 × 5 ÷ 10 + 100 − 75 = 50

300 + 5 − 20 × 200 ÷ 100 = 200

103. If `'-' means 'x', 'x' means '+', '÷' means '-' and '+' means '÷', then 

40 x 12 + 3 - 6 ÷ 60 = ?

A. 4

B. 7

C. 16

D. 44

Answer: A

https://dl.doubtnut.com/l/_7XtUcf6qBL1q
https://dl.doubtnut.com/l/_ZgzWpHdLCKpq


Watch Video Solution

104. If 25 + 5 ÷ 2 = 40 , and 35 + 5 ÷ 2 = 60 , then 45 + 5 ÷ 2 = ?

1) 90 

2) 70 

3) 60 

4) 80

A. 90

B. 70

C. 60

D. 80

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ZgzWpHdLCKpq
https://dl.doubtnut.com/l/_khQ2JheobGwx


105. If '+' means  means '-','-' means  and  means '+'

then 

A. 3

B. 6

C. 112

D. 

Answer: A

Watch Video Solution

' ÷ ' , ' ÷ ' ' × ' ' × '

48 + 16 × 4 − 2 ÷ 8 = ?

−28

106. If '+' means minus '-' means multiplication '-:' means plus, and 'x'

means division, 

A. 52

15 − 3 + 10 × 5 ÷ 5 = ?

https://dl.doubtnut.com/l/_OgFN5pTNJKyw
https://dl.doubtnut.com/l/_6F3l21xXUiNq


B. 48

C. 22

D. 5

Answer: B

Watch Video Solution

107. If  stands for subtraction, '-' stands for addition,  stands

for division and '+' stands for multiplication, the which one of the

following equation is correct?

A. 

B. 

C. 

D. 

Answer: D

' ÷ ' ' × '

35 ÷ 4 − 25 × 5 + 5 = 28

35 ÷ 4 − 25 × 5 + 5 = 61

35 ÷ 4 − 25 × 5 + 5 = 41

35 ÷ 4 − 25 × 5 + 5 = 56

https://dl.doubtnut.com/l/_6F3l21xXUiNq
https://dl.doubtnut.com/l/_7bcZnUgN6IKX


Watch Video Solution

108. If '+' means 'x', '-' means '÷ :', 'x' means '-' and  means '+' then what

will be the value of 

?

A. 12

B. 8

C. 4

D. 2

Answer: C

Watch Video Solution

÷

16 ÷ 4 × 10 − 5 + 8 =

109. If '+' means , '-' means  means '+' means and 

means '-' then 

' ÷ ' ' × , ' ÷ ' ' × '

36 × 12 + 4 ÷ 6 + 2 − 3 = ?

https://dl.doubtnut.com/l/_7bcZnUgN6IKX
https://dl.doubtnut.com/l/_rx9OtI0Uc7be
https://dl.doubtnut.com/l/_RhiOiwlZvmnO


A. 2

B. 

C. 18

D. 42

Answer: D

Watch Video Solution

6
1

2

110. If '+' means '/', '/' means  means  means '+'

means '+' then 

A. 

B. 

C. 12

D. 21

Answer: B

− ' , ' − ' ' × ' , ' × '

24 + 8/2 − 6 × 6 = ?

−10

−3

https://dl.doubtnut.com/l/_RhiOiwlZvmnO
https://dl.doubtnut.com/l/_OtPgYsUuB38W


Watch Video Solution

111. If '+' means divided by '-' means' multiplied by  means minus' and

 means plus' which of the following will be the value of expression : 


A. 16

B. 28

C. 32

D. 44

Answer: B

Watch Video Solution

' × '

' ÷ '

16 ÷ 8 − 4 + 2 × 4 = ?

112. If ,

then

× means + , + means ÷ , − means × and ÷ means −

8 × 7 − 8 + 40 ÷ 2 = ?

https://dl.doubtnut.com/l/_OtPgYsUuB38W
https://dl.doubtnut.com/l/_Fa4kFxFWAAGt
https://dl.doubtnut.com/l/_JE6Gw3mEZ5WE


A. 1

B. 

C. 

D. 44

Answer: B

Watch Video Solution

27
5

8
3

5

113. Which of the following interchanges of number would make the

following equation correct?


A. (8,9)

B. (3,5)

C. (3,9)

D. (3,8)

8 × + 9 − 5 = 38
20

3

https://dl.doubtnut.com/l/_JE6Gw3mEZ5WE
https://dl.doubtnut.com/l/_HJJpYRstTv1C


Answer: B

Watch Video Solution

114. If '+' stands for multiplication, '-' stands for addition  stands for

division and  stands for subtraction, then which one of the

following equations is correct?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

' × '

' ÷ '

9 + 8 − 4 × 2 ÷ 18 = 56

9 × 8 + 4 ÷ 2 − 18 = 26

9 × 8 ÷ 4 + 2 − 18 = 200

9 − 8 × 4 + 2 ÷ 18 = 203

https://dl.doubtnut.com/l/_HJJpYRstTv1C
https://dl.doubtnut.com/l/_zc2nEPBThLHY


115. If - means  means  means  means +, then which

of the following equations is correct?

A. 

B. 

C. 

D. 

Watch Video Solution

÷ , + × , ÷ −, ×

43 × 7 ÷ 5 + 4 − 8 = 25

48 ÷ 5 + 8 × 10 − 2 = 13

36 × 4 − 12 + 5 ÷ 3 = 420

42 + 5 ÷ 6 × 8 − 3 = 28

116. If 'P' means '+', 'Q' means  , 'R' means  and 'S' means '-' then 


A. 25

B. 36

C. 112

' × ' ' ÷ '

44Q9R12S6Q4P16 = ?

https://dl.doubtnut.com/l/_rLutYFXJm9qh
https://dl.doubtnut.com/l/_lf9IOStgfNL0


D. 12

Answer: A

Watch Video Solution

117. If '+' means minus '-' means multiplication '-:' means plus, and 'x'

means division, 

A. 52

B. 48

C. 22

D. 5

Answer: B

Watch Video Solution

15 − 3 + 10 × 5 ÷ 5 = ?

https://dl.doubtnut.com/l/_lf9IOStgfNL0
https://dl.doubtnut.com/l/_cSvu7FRFvdEm
https://dl.doubtnut.com/l/_LyJjHnrlwpTm


118. If '+' means  means  means  and 

means '-' then 

A. 38

B. 39

C. 40

D. 37

Answer: A

Watch Video Solution

' × ' , ' − ' ' + ' , ' × ' ' ÷ ' ' ÷ '

12 × 2 + 6 − 7 ÷ 5 = ?

119. If " " stands for "division"," " stands for "multiplication", " "

stands for "subtraction" and " " stands for "addition", then which of the

following equations holds true?/ यदि " " का अर्थ "भाग" है, " " का अर्थ "गुणा"

है, " " का अर्थ "घटाना" है और “ " का अर्थ "जोड़" है, तो निम्न में से कौन-सा समीकरण

सही है?

A. 

− + ÷

×

− +

÷ ×

4 × 5 + 9 − 3 ÷ 4 = 15

https://dl.doubtnut.com/l/_LyJjHnrlwpTm
https://dl.doubtnut.com/l/_si5vmAZAAaU0


B. 

C. 

D. 

Answer: B

Watch Video Solution

4 − 5 × 9 + 3 ÷ 4 = 32

4 − 5 ÷ 18 × 3 − 4 = 70

4 ÷ 5 + 9 − 3 ÷ 4 = 81

120. If '+' means  means  means '-' and 

means '+' then value of the given equation is : 

A. 68

B. 36

C. 65

D. 11

Answer: A

' × ' , ' − ' ' ÷ ' , ' × ' ' ÷ '

9 + 8 ÷ 8 − 4 × 6 = ?

https://dl.doubtnut.com/l/_si5vmAZAAaU0
https://dl.doubtnut.com/l/_YCivRwXEHgf2


Watch Video Solution

121. In the following question, by using which mathematical operators will

the expression become correct? 

A. and 

B.  and 

C.  and 

D.  and 

Answer: B

Watch Video Solution

14?2?4?6?4

× , ÷ , > ×

÷ , × , > ×

÷ , + , > ×

÷ , + > ×

122. If "–" denotes "divided by", "+" denotes "subtracted from",  denotes

"added to" and  denotes "multiplied by", then 4  16  5 + 4 – 2 = ?

÷

÷ ÷ ×

https://dl.doubtnut.com/l/_YCivRwXEHgf2
https://dl.doubtnut.com/l/_vKYe8R1mz8uG
https://dl.doubtnut.com/l/_rwA1GlseTHyA


A. 2

B. 43

C. 22

D. 67

Answer: D

Watch Video Solution

123. In the following question, by using which mathematical operators will

the expression become correct? 

32 ? 2 ? 8 ? 14 ? 4

A.  and 

B.  and 

C.  and 

D.  and 

× , + , = ÷

+, + , = ×

× , − , = ×

+, × , = ×

https://dl.doubtnut.com/l/_rwA1GlseTHyA
https://dl.doubtnut.com/l/_asbWzMhxFags


Answer: C

Watch Video Solution

124. If "/" denotes "multiplied by", "+" denotes "subtracted from", "x"

denotes "added to" and "-"denotes "divided by" then 

 ?

A. 

B. 1

C. 

D. 8

Answer: B

Watch Video Solution

12 − 6 + 28X =
3

9

−24

−53

https://dl.doubtnut.com/l/_asbWzMhxFags
https://dl.doubtnut.com/l/_z2CLCsZc4xQk


125. If ''+'' denotes ''divided by'' ,  denotes ''added to'' ,

denotes ''subtracted from'' and ''-'' denotes ''multiplied by'', then

A. 4

B. 16

C. 12

D. 10

Answer: C

Watch Video Solution

' ' × ' ' ' ' ÷ ' '

54 + 162 − 18 × 12 ÷ 6 = ?

126. If " - " means " added to " , " + " means " divided by " ,  means "

multiplied by " ,  means " subtracted from " , then 


A. 

' ' ÷ ' '

' ' × ' '

13 + 12 × 9 ÷ 3 − 6 = ?

−117
11

https://dl.doubtnut.com/l/_QrpJEXyPsrEJ
https://dl.doubtnut.com/l/_Xwxbco9hLPbJ


B. 

C. 

D. 

Answer: D

Watch Video Solution

117
11

−237
12

−239

12

127. If  denotes ''added to'', ''+'' denotes ''subtracted from'', ''+''

denotes ''divided by'' and ''-'' denotes ''multiplied by'', then 

A. 430

B. 180

C. 168

D. 188

Answer: D

' ' × ' '

14 × 12 − 16 + 18 = ?

https://dl.doubtnut.com/l/_Xwxbco9hLPbJ
https://dl.doubtnut.com/l/_XJ9mHfeHWoCy


Watch Video Solution

128. In a certain code language, '+' represents  represents '+', 

 represents  and  represents '-'. What is the answer to the

following question ? 

A. 69

B. 67

C. 

D. 

Answer: D

Watch Video Solution

' × ' , ' − '

' × ' ' ÷ ' ' ÷ '

27 × 3 ÷ 30 + 5 − 125 = ?

−15

−16

129. In a certain code language, '+' represents , '-' represents '+', 

 represents  and ' -:' represents '-'.What is the answer to the

' × '

' × ' ' ÷ '

https://dl.doubtnut.com/l/_XJ9mHfeHWoCy
https://dl.doubtnut.com/l/_krDDQ1nE8asd
https://dl.doubtnut.com/l/_rTtmpjMSmvze


following question? 

A. 11

B. 64

C. 30

D. 5

Answer: D

Watch Video Solution

80 × 16 ÷ 4 + 2 − 8 = ?

130. In a certain code language, '+' represents , '-' represents '+', 

 represents  and  represents '-'. What is the answer to the

following question? 

A. 32

B. 88

' × '

' × ' ' ÷ ' ' ÷ '

56 ÷ 8 + 12 − 72 = ?

https://dl.doubtnut.com/l/_rTtmpjMSmvze
https://dl.doubtnut.com/l/_ohEscTaeXLWi


C. 44

D. 82

Answer: A

Watch Video Solution

131. In a certain code language, '+' represents 'x', '-' represents '+', 'x'

represents '÷' and '÷' represents '-'. What is the answer to the following

question? 

 


(A) 94 (B) 100 (C)90 (D) 275

A. 94

B. 100

C. 90

D. 275

Answer: D

50 + 5 − 700 × 28 = ?

https://dl.doubtnut.com/l/_ohEscTaeXLWi
https://dl.doubtnut.com/l/_pTCCrpEmYsyl


Watch Video Solution

132. In a certain code language '+ represets 'X', '-' represents '+', 'X'

represents ' ' and  represents '-'. What is the answer to the

following question? 

 


(A) 74 (B) 48 (C) 94 (D) 82

A. 74

B. 48

C. 94

D. 82

Answer: A

Watch Video Solution

÷ ' ÷ '

234 × 9 − 12 + 4 = ?

https://dl.doubtnut.com/l/_pTCCrpEmYsyl
https://dl.doubtnut.com/l/_Bzi0o3T0ppth


133. What will come in place of question mark (?) in the given equation ?

A.  and =

B.  and =

C.  and 

D.  and =

Answer: B

Watch Video Solution

39?11?33?117

+, ÷

÷ , ×

× , = ×

× , ÷

134. In the following question, by using which mathematical operators

will the expression become correct? 

69 ? 3 ? 2 ? 9 ? 3

A.  and 

B.  and 

÷ , − , > ×

÷ , + , < ×

https://dl.doubtnut.com/l/_G9kxBJqY6yKv
https://dl.doubtnut.com/l/_p6P6bzrPGFg7


C.  and 

D.  and 

Answer: B

Watch Video Solution

÷ , − , = ×

÷ , + , < ×

135. In the following question, by using which mathematical operators will

the expression become correct? 

9 ? 3 ? 6 ? 8 ? 4

A.  and 

B.  and +

C.  and 

D.  and 

Answer: C

Watch Video Solution

−, × , = ×

÷ , + , >

+, × , < ×

× , + , < ×

https://dl.doubtnut.com/l/_p6P6bzrPGFg7
https://dl.doubtnut.com/l/_BXkFg7VXJYlx


136. In a cetain code language, '-' represents  represents '+', '+'

represents  and  represents '-'. Find out the answer to the

following question. 

A. 24

B. 9

C. 2

D. 8

Answer: D

Watch Video Solution

' × ' , ' ÷ '

' ÷ ' ' × '

15 − 6 + 10 × 3 ÷ 2 = ?

137. In a certain code language,  represents 'x',  represents '+',

'+' represents  and 'x' represents '-'. Find out the answer to the

' − ' ' ÷ '

' ÷ '

https://dl.doubtnut.com/l/_BXkFg7VXJYlx
https://dl.doubtnut.com/l/_BNCv20lQrjtN
https://dl.doubtnut.com/l/_YZxdSKMsO3Sk


TYPE-I (ii)

following question. 

A. 20

B. 14

C. 32

D. 27

Answer: A

Watch Video Solution

19 ÷ 2 − 35 + 10 × 6 = ?

1. In the following question you have to identify the correct response

from the given premises stated according to following symbols. 

If  stands for addition.  stands for subtraction,  stands for

division,  stands for multiplication,  stands for equal to then which

of the following alternatives is correct?

→ ← ↑

↓ ↗

https://dl.doubtnut.com/l/_YZxdSKMsO3Sk
https://dl.doubtnut.com/l/_yuap4vkofcKD


TYPE-I (iii)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 ↓ 5 ← 6 → 2↗6

5 → 7 ← 3 ↑ 2↗4

3 ↓ 6 ↑ 2 → 3 ← 6↗5

7 ← 43 ↑ 6 ↓ 1↗4

1. If 'a' denotes  , 'b' denots '+', 'c' denotes '-' 'd' denotes  then 

A. 2

B. 17

C. 34

D. 19

' ÷ ' ' × '

24a6d4b9c8 = ?

https://dl.doubtnut.com/l/_yuap4vkofcKD
https://dl.doubtnut.com/l/_ifmxDanx6ohv


Answer: B

Watch Video Solution

2. A stands for addition, B for subtraction, C for 'division', D

formultiplicatin', E for 'less than', F for greater then and G for equal to. 

'Out of the alternatives only one expression is correct according to the

letter symbols. Identify that.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

18C2A4B6G9

6D4B12A4C2F18

10C2D4B6E12

9A7B4C2G14

https://dl.doubtnut.com/l/_ifmxDanx6ohv
https://dl.doubtnut.com/l/_JDG1BvRbhwKi


3. If P denotes +, Q denotes -,R denotes  and S denotes , then 

A. 115

B. 25

C. 55

D. 

Answer: C

Watch Video Solution

÷ ×

18S36R12Q6P7 = ?

648
13

4. In the following questions you have to identify the correct respones

from the given premises stated according to following symbols 

'A' stands for 'equal to' 

'B' stands for less than' 

'C' stands for 'greater than' 

'D' stands for 'not greater than 

https://dl.doubtnut.com/l/_FV2tdQsnebB2
https://dl.doubtnut.com/l/_bOJdmXMZyRC7


'E' stands for 'not equal to' 

'F' stands for 'not less than'. 

Permises (3XB2Y) and (2YDZ)

A. 3 X A Z

B. 3 X D Z

C. 3 X F Z

D. 3 X B Z

Answer: D

Watch Video Solution

5. In the following questions you have to identify the correct respones

from the given premises stated according to following symbols 

'A' stands for 'equal to' 

'B' stands for less than' 

'C' stands for 'greater than' 

'D' stands for 'not greater than 

https://dl.doubtnut.com/l/_bOJdmXMZyRC7
https://dl.doubtnut.com/l/_vkHXmHFH4Ag5


'E' stands for 'not equal to' 

'F' stands for 'not less than'. 

Premises : (7 X B 3Y) and (6Y D2Z)

A. 7X C 2Z

B. 7X B 2Z

C. 7X D 2Z

D. 7X A 2Z

Answer: B

Watch Video Solution

6. If J represents +, K represents- L represents  and M represents 

then 

A. 115

B. 55

÷ ×

18M36L12K6J7 = ?

https://dl.doubtnut.com/l/_vkHXmHFH4Ag5
https://dl.doubtnut.com/l/_5WhYiJJBWI0n


C. 

D. 25

Answer: B

Watch Video Solution

(648)(18)

7.  


Of the four alternatives only one expression has the correct relationship.

Identify that and indicate your answer.

A. 

B. 

C. 

D. 

15C15B8F4B6C3

15B5G8B4G6F3

15A5E8C4B6E3

15C5F8C4B6C3

https://dl.doubtnut.com/l/_5WhYiJJBWI0n
https://dl.doubtnut.com/l/_SfryKUctOVxp


Answer: D

Watch Video Solution

8. If A represents +, B reprersents -, C represents  and D represents 

then which of the following statements is true?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

× ÷

8B6D2A4C3 = 15

9C9B9D9A9 = 17

8A8B8C8 = − 48

3A3B3C3A3D3 = 4

9. If A means , D means '+' and G means '-', find the value of ' × '

7A4D4A3G2

https://dl.doubtnut.com/l/_SfryKUctOVxp
https://dl.doubtnut.com/l/_aeY8SzhkCv7j
https://dl.doubtnut.com/l/_c40kOw2KMGVp


A. 28

B. 38

C. 44

D. 48

Answer: B

Watch Video Solution

10. If  then 

A. 0

B. 5

C. 10

D. 15

Answer: B

Watch Video Solution

L = + , M = − , N = × , P = ÷ , 5N5P5L5M5 = ?

https://dl.doubtnut.com/l/_c40kOw2KMGVp
https://dl.doubtnut.com/l/_2YlBmExjU4bu


11. If L for +, M stand for - , N stands for  P stands for +, then 14 N 10 L

42 P 2 M 8= ?

A. 153

B. 216

C. 248

D. 251

Answer: A

Watch Video Solution

× ,

12. Some symbols are represented by alphabets as

 


of the four alternatives only one expression has the correct relationship.

Indentify that:

+ − × ÷ = > <

B G E C D A F

https://dl.doubtnut.com/l/_2YlBmExjU4bu
https://dl.doubtnut.com/l/_wvml7W40sJha
https://dl.doubtnut.com/l/_M8FokEf0M5x3


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

18F3B6E8G4E12

18C3G6B8B4D12

18A3E6B8G4B12

18C3D6B8C4G12

13. If 'P' stands for '-', 'Q' stands for  'R' for  and 'S' for '+', then

what is the value of the given equation? 

A. 17

B. 32

C. 28

D. 6

Answer: B

' × ' ' ÷ '

14Q3P12S4R2 = ?

https://dl.doubtnut.com/l/_M8FokEf0M5x3
https://dl.doubtnut.com/l/_I0Qu7iMKJZnL


Watch Video Solution

14. If L denotes , M denotes , P denotes + and Q denotes -, then find

the value of `16 P 24 M 8Q6 M2 L 3 = ?

A. 6

B. 8

C. 10

D. 12

Answer: C

Watch Video Solution

× ÷

15. If A stands for 'addition, M for 'multiplication', D for 'division', G for

greater than' and L for 'Lesser than' then which of the following will be

logically correct?

https://dl.doubtnut.com/l/_I0Qu7iMKJZnL
https://dl.doubtnut.com/l/_lOutvBUKA2d9
https://dl.doubtnut.com/l/_yPqFdnpeIo3u


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

20A4D4L4A6D2

20D5G8D4A6M3

20D4A4L4A2M3

20A2G10M3A12D2

16. X stands for +, Y stands for –, and P stands for , then what is the

value of 

A. 10

B. 15

C. 20

D. 25

Answer: C

×

10P2X5Y 5?

https://dl.doubtnut.com/l/_yPqFdnpeIo3u
https://dl.doubtnut.com/l/_4fFxQUDh10Et


Watch Video Solution

17. If 'P' means '+', 'Q' means  , 'R' means  and 'S' means '-' then 


A. 25

B. 112

C. 36

D. 124

Answer: A

Watch Video Solution

' × ' ' ÷ '

44Q9R12S6Q4P16 = ?

18. If 'R' stands for '-', 'A' stands for '+', 'B' stands for  and 'C' stands

for , then what is the value, of the given equation? (BODMAS rule

will not be applicable) 

' ÷ '

' × '

25A37C2B4R1 = ?

https://dl.doubtnut.com/l/_4fFxQUDh10Et
https://dl.doubtnut.com/l/_V3ucq1d7AN3F
https://dl.doubtnut.com/l/_ZLOcQ7waKGR7


A. 32

B. 35

C. 30

D. 27

Answer: A

Watch Video Solution

19. If P denotes , Q denotes , R denotes + and S denotes -,then 12 Q

15 P 3 R 4 S 6 = ?

A. 70

B. 57

C. 58

D. 68

Answer: C

÷ ×

https://dl.doubtnut.com/l/_ZLOcQ7waKGR7
https://dl.doubtnut.com/l/_ra9bjbrjnbKu


Watch Video Solution

20. You have to follow the symbolic interpretation to solve the question. 

+ = Greater than 

 = Equal to 


-=Not less than 

L= Not equal to 

I = Less than 

= Not greater than 

Then if , which of the following is implied ?

A. 

B. 

C. 

D. 

Watch Video Solution

×

ϕ

A − BϕC

A ∣ B + C

A|B|C

A + B − C

AϕB ∣ C

https://dl.doubtnut.com/l/_ra9bjbrjnbKu
https://dl.doubtnut.com/l/_6FsWYOiKio4a


21. If A stands for +, Q stands for -, V stands for  , R stands for , then

what is the value of the given equation ? 

225 R 5 A 64 Q 13 V 6 = ?

A. 376

B. 15

C. 376

D. 576

Watch Video Solution

× ÷

22. If 'P' denotes' 'multiplied by', T denotes 'subtracted from', 'M' denotes

'added to' and 'B' denotes 'divided by' then : what should be the correct

response of 12 P 6 M 15 T 16 B 4?

A. 70

B. 75

https://dl.doubtnut.com/l/_7HFnEUQdXEpu
https://dl.doubtnut.com/l/_JeAVHbdkB3XO


C. 83

D. 110

Answer: C

Watch Video Solution

23. If + Greater than,  =Not greater than, - = Not less than ,  Equal

to |= Less than and L= Not equal to, then of  which of the

following is true ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ϕ × =

A ∣ B × C

B + C ∣ A

C − B + A

B|A|C

AϕB ∣ C

https://dl.doubtnut.com/l/_JeAVHbdkB3XO
https://dl.doubtnut.com/l/_jLJ1ksLwEDEw


24. Identify one response which would be a correct inference from the

given premises stated according to the following symbols : 

'A' stands for not greater than 

'B' stands for equal to 

'C' stands for less than 

'D' stands for not less than 

'E' stands for not equal to 

'F' stands for greater than 

Premises (2 MBN) and (2N A 3K)

A. 2M D 3K

B. 2M B 3K

C. 2M C 3K

D. 2K B 3N

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jLJ1ksLwEDEw
https://dl.doubtnut.com/l/_5urh9DVMgedW


25. B' stands for addition, 'G' stands for subtraction, 'E' stands for

multiplication, 'C' stands for division, 'D' stands for equal to, 'A' stands for

greater than, 'F' stands for less than. In each of the four alternatives, only

one expression is correct according to the letter symbol. Identify that

expression.

A. 

B. 

C. 

D. 

Watch Video Solution

15C3B2A6E2

15B2G5A4G4

15C3B2D6B1

15B3D4E6

26. If A denotes +, B denotes - and C denotes , then 


A. 46

×

(10C4)A(4C4B6) = ?

https://dl.doubtnut.com/l/_fznzaxW4VEwv
https://dl.doubtnut.com/l/_fQjSvgMAPcmm


B. 50

C. 55

D. 58

Answer: B

Watch Video Solution

27. If P denotes +, Q denotes -,R denotes  and S denotes , then 

A. 115

B. 65

C. 55

D. 25

Answer: C

Watch Video Solution

÷ ×

18S36R12Q6P7 = ?

https://dl.doubtnut.com/l/_fQjSvgMAPcmm
https://dl.doubtnut.com/l/_0CAkNobIAu8j


28. If P denotes ÷, Q denotes  , R denotes + and S denotes -, then what

is the value of 18 Q 12 P 4 R 5 S 6

A. 64

B. 53

C. 81

D. 24

Answer: B

Watch Video Solution

×

29. If A means +, B means , C means , D means - then the value of

given equation will be 

A. 16

B. 19

× ÷

9A2B6D4C2

https://dl.doubtnut.com/l/_0CAkNobIAu8j
https://dl.doubtnut.com/l/_RLZfxQup1kvq
https://dl.doubtnut.com/l/_bT9gCV3dhkQE


C. 27

D. 30

Answer: B

Watch Video Solution

30. If D stands for , S stands for +, A stands for – and M stands for ,

what is the value of the given expression 

A. 558

B. 3312

C. 137

D. 31

Answer: C

Watch Video Solution

× ÷

28D6S34M2A8D6?

https://dl.doubtnut.com/l/_bT9gCV3dhkQE
https://dl.doubtnut.com/l/_uRtTZsK7Mtsd
https://dl.doubtnut.com/l/_OCC4CJM17udB


31. If 'A' stands for '+', 'B' stands for '-', 'C' stands for , what is the

value of 

A. 40

B. 56

C. 86

D. 60

Answer: B

Watch Video Solution

' × '

(10C4)A(4C4)B16 = ?

32. If a denotes , b denotes , C denotes + and d denotes -, then 

A. 17

B. 7

C. 14

× ÷

8a3c24b12d19 = ?

https://dl.doubtnut.com/l/_OCC4CJM17udB
https://dl.doubtnut.com/l/_6394rqxtOawB


D. 8

Answer: B

Watch Video Solution

33. If A denotes - C denotes  D denotes  E denotes + then

14C3A12E4D2=?

यदि A- को प्रदर्शित करता है C,  को प्रदर्शित करता है D  को प्रदर्शित करता है E + को

प्रदर्शित करता है तो 14C3A12E4D2=?

A. 6

B. 17

C. 28

D. 32

Answer: D

Watch Video Solution

× : −

× : −

https://dl.doubtnut.com/l/_6394rqxtOawB
https://dl.doubtnut.com/l/_I9f9lLnGJarb


34. If A denotes '+', B denotes '-', C denotes  and D denotes ,

then which of the following statement is true?

A. 8B6D2A4C3 = 15

B. 8A8B8C8 = - 48

C. 9C9B9D9A9 =17

D. 3A3B3C3A3D3 - 4

Answer: B

Watch Video Solution

' × ' ' ÷ ' −

35. If P denotes multiply, T denotes subtraction, M denotes addition, B

denotes division then 

A. 28

B. 30

C. 32

28B7P8T6M4 = ?

https://dl.doubtnut.com/l/_h7PexYTSVaLX
https://dl.doubtnut.com/l/_0MfrVmyfjycq


D. 34

Answer: B

Watch Video Solution

36. If L denotes , M denotes , P denotes + and Q denotes -, then find

the value of `16 P 24 M 8Q6 M2 L 3 = ?

A. 

B. 

C. 

D. 10

Answer: D

Watch Video Solution

× ÷

13

6

−1

6

14
1

2

https://dl.doubtnut.com/l/_0MfrVmyfjycq
https://dl.doubtnut.com/l/_TNkdFjHuQ6as


37. If 'L' stands for '+', 'M' stands for '-' N stands for , P stands for 

 then 


A. 153

B. 216

C. 248

D. 251

Answer: A

Watch Video Solution

' × '

' ÷ '

14N10L42P2M8 = ?

38. If P denotes , Q denotes , R denotes '+' and S denotes '-',

then 

A. 53

' ÷ ' ' × '

18Q12P4R5S6 = ?

https://dl.doubtnut.com/l/_o9DdLbi3jSxD
https://dl.doubtnut.com/l/_RquARmePPJn2


B. 54

C. 57

D. 95

Answer: A

Watch Video Solution

39. If "K" means "subtracted from", “L” means "divided by", "M" means

"added to" and "D" means "multiplied by", then 

A. 117

B. 125

C. 120

D. 145

Answer: A

Watch Video Solution

96L4K6M11D9 = ?

https://dl.doubtnut.com/l/_RquARmePPJn2
https://dl.doubtnut.com/l/_P7WWI5LclDWB


40. If "S" denotes "multiplied by", "V" denotes "subtracted from", "M"

denotes "added to" and "L" denotes "divided by", then

A. 21

B. 18

C. 35

D. 27

Answer: B

Watch Video Solution

7V 24M77L11S5 = ?

41. If "S" denotes "multiplied by", "V" denotes "subtracted from", "M"

denotes "added to" and "L" denotes "divided by", then 

2V 13M77L11S5 = ?

https://dl.doubtnut.com/l/_P7WWI5LclDWB
https://dl.doubtnut.com/l/_14lOPGoobpFf
https://dl.doubtnut.com/l/_O3zGFO4U7UCt


A. 23

B. 24

C. 34

D. 44

Answer: B

Watch Video Solution

42. If "K" means "subtracted from", “L” means "divided by", "M" means

"added to" and "D" means "multiplied by", then 

A. 117

B. 125

C. 120

D. 145

Answer: A

96L4K6M11D9 = ?

https://dl.doubtnut.com/l/_O3zGFO4U7UCt
https://dl.doubtnut.com/l/_8HDBjkDEzaUu


Watch Video Solution

43. If "A" means "minus", "B" means "divided by", "C" means "plus" and ''D''

means "multiplied by", then 

A. 15

B. 21

C. 16

D. 18

Answer: A

Watch Video Solution

54B6A4C2D5 = ?

44. If "A" means "subtraction", "B" means "division", "C" means "addition"

and "D“ means "multiplication", then 

294B7A40C33D11 = ?

https://dl.doubtnut.com/l/_8HDBjkDEzaUu
https://dl.doubtnut.com/l/_BNETdiIofuZ9
https://dl.doubtnut.com/l/_0iE5WVrrUQMO


A. 369

B. 365

C. 368

D. 363

Answer: B

Watch Video Solution

45. If "S" denotes “multiplied by", "V" denotes "subtracted from", "M"

denotes "added to" and "L" denotes "divided by", then

A. 4

B. 6

C. 8

D. 10

72L24S3V 7M2 = ?

https://dl.doubtnut.com/l/_0iE5WVrrUQMO
https://dl.doubtnut.com/l/_i7YCtdMvex5I


Answer: A

Watch Video Solution

46. If "A" means "plus", "B" means "divide", "C" means "multiply" and "D"

means "minus", then 

A. 0

B. 3

C. 1

D. 2

Answer: C

Watch Video Solution

180B36C5A8D32 = ?

https://dl.doubtnut.com/l/_i7YCtdMvex5I
https://dl.doubtnut.com/l/_IeUdqk2rz3ta


47. If "S" denotes "multiplied by", "V" denotes "subtracted from", "M"

denotes "added to" and "L" denotes divided by", then 

A. 32

B. 37

C. 41

D. 48

Answer: C

Watch Video Solution

96L8S4V 16M9 = ?

48. If P denotes , Q denotes , R denotes '+' and S denotes '-',

then 

A. 34

' ÷ ' ' × '

18Q12P4R5S6 = ?

https://dl.doubtnut.com/l/_1Lj8XiRto51R
https://dl.doubtnut.com/l/_kEFPnJVfGqFA


B. 53

C. 36

D. 65

Answer: B

Watch Video Solution

49. If "A" denotes "divided by", "C" denotes "subtracted from", "D" denotes

"added to" and "B" denotes "multiplied by", then 

A. 5

B. 9

C. 3

D. 7

Answer: A

Watch Video Solution

15A3D24C12B2 = ?

https://dl.doubtnut.com/l/_kEFPnJVfGqFA
https://dl.doubtnut.com/l/_0vs8A5mjbwBp


50. If  and 

A. 12

B. 25

C. 21

D. 18

Answer: C

Watch Video Solution

6A11B33 = 18 4B18A9 = 8then' 3A5B35 = ?

51. If "B" denotes "multiplied by", "C" denotes "subtracted from", "A"

denotes "added to" and "D" denotes "divided by", then which of the

following equation is true?

A. 

B. 

24D12B3A12 = 18

36D6B3A2 = 74

https://dl.doubtnut.com/l/_0vs8A5mjbwBp
https://dl.doubtnut.com/l/_XT8zAuhYUR7m
https://dl.doubtnut.com/l/_ppda8aHCYh5f


C. 

D. 

Answer: A

Watch Video Solution

42A7B2D2 = 35

56D14B2C4 = 12

52. If "P" denotes "multiplied by", "Q" denotes "subtracted from", "S"

denotes "added to" and "R" denotes "divided by", then which of the

following equation must be true?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

7S56P2R28 = 11

36R6P2S4 = 19

64R8P3S6 = 72

36R9S4P2 = 14

https://dl.doubtnut.com/l/_ppda8aHCYh5f
https://dl.doubtnut.com/l/_aPi2J8CNqor0


53. If  A 7 B 9 = 16 and  A 5 B 7 = 12, then  A 3 B 8 = ?

A. 17

B. 92

C. 86

D. 35

Answer: D

Watch Video Solution

72 52 92

54. If "P" denotes "multiplied by", "R" denotes "subtracted from", "S"

denotes "added to" and "Q" denotes "divided by", then which of the

following equation is true?

A. 

B. 

18R60Q15S2 = 8

15S16Q2P4 = 47

https://dl.doubtnut.com/l/_aPi2J8CNqor0
https://dl.doubtnut.com/l/_piBtbcxeONfz
https://dl.doubtnut.com/l/_pkAN3cqMAlVI


C. 

D. 

Answer: B

Watch Video Solution

3P5R18Q3 = 6

15S28Q4P2 = 27

55. If "K" denotes "multiplied by", "M" denotes "subtracted from", "J"

denotes "added to" and "L" denotes "divided by", then 

44 M 24 K 56 L 14 J 60 = ?

A. 16

B. 72

C. 8

D. 140

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pkAN3cqMAlVI
https://dl.doubtnut.com/l/_EFYRvOrgU8jm


56. If  and , then 

A. 84

B. 39

C. 42

D. 56

Answer: B

Watch Video Solution

13L4A7 = 41 14A3L12 = 54 12L3A9 = ?

57. If 'P' means '+', 'Q' means -, 'R' means  and 'S' means  then

which of the following equation is correct?

A. 

B. 

C. 

' ÷ ' ' × '

14R7S6P4Q3 = 11

9S8P6R4S8 = 80

3S6P2Q3R6 =
35

2

https://dl.doubtnut.com/l/_EFYRvOrgU8jm
https://dl.doubtnut.com/l/_2XWcNQqC3LGv
https://dl.doubtnut.com/l/_7z9ZtoqtZ8ru


D. 

Answer: D

Watch Video Solution

11R12S48P10Q6 = 48

58. If 'P' means '+', 'Q' means '-', 'R' means  and 'S' means , then 


A. 319

B. 327

C. 

D. 317

Answer: B

Watch Video Solution

' ÷ ' ' × '

46S14R2P11Q6 = ?

−217

https://dl.doubtnut.com/l/_7z9ZtoqtZ8ru
https://dl.doubtnut.com/l/_mfqg8ArxnvqJ


TYPE-I (iv)

59. If ‘J’ means ‘+’, ‘K’ means ‘–’, ‘T’ means  and ‘U’ means , then 


18 T 3 U 27 J 2 = ?

A. 6

B. 2

C. 4

D. 3

Answer: C

Watch Video Solution

' × ' ' ÷ '

1. If X stands for addition, V stands for subtraction, U stands for 'equal to'.

 stands for division,  stands for multiplication,  stands for greater

than and  stands for less than. State which expression is true.

∧ ∑ σ

anσ

https://dl.doubtnut.com/l/_y1gz1UY0Mtog
https://dl.doubtnut.com/l/_CVzUf25hE9GS


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3X8V 2U12 ∧ 3

13V 12X9V 2σ5∑ 1

2∑ 3∑ 4σ51 ∧ 3

3∑ 2∑ 4U2X7V 3

2. If  and  are represented as 

and  respectively thet, which of the following is correct?

A. 

B. 

C. 

D. 

Answer: D

+, − , × , ÷ , = , > < δ ∗ , γ, η, ω, β

α

3γ6η2δ8 ∗ 4ω5

3η6γ2δ8 ∗ 4β5

3γ6 ∗ 2δ8η4α5

3δ6 ∗ 2γ8η4ω5

https://dl.doubtnut.com/l/_CVzUf25hE9GS
https://dl.doubtnut.com/l/_KW788D2lzKxm


Watch Video Solution

3. If 'S' is wirtten as 'H', 'R' as , 'A' as  as  ,'T' as `'

A. 

B. 

C. 

D. `#nablaH%"@"

'@' ∇ ' , 'M' ' #'

# ∇H$ % @

#H ∇$ % @

# ∇$H % @

3. If 'S' is wirtten as 'H', 'R' as , 'A' as  as  ,'T' as

`'

A. 

B. 

C. 

D. 

'@' ∇ ' , 'M' ' #'

# ∇H$ % @

#H ∇$ % @

# ∇$H % @

https://dl.doubtnut.com/l/_KW788D2lzKxm
https://dl.doubtnut.com/l/_qmgvZwri4DpI
https://dl.doubtnut.com/l/_qmgvZwri4DpI
https://dl.doubtnut.com/l/_qmgvZwri4DpI
https://dl.doubtnut.com/l/_qmgvZwri4DpI


%`, then how is 'MASTER' written in that code?

A. ###OPT1###

B. ###OPT2###

C. ###OPT3###

D. ###OPT4###

Answer: ###ANSWER###

###BUTTON_TEXT###

Answer: A

Watch Video Solution

and 'E' as

4. If  denotes "added to" ,  denotes "subtracted from" , 

denotes "divided by" and  denotes "multiplied by" , then 

theta sigma beta

alpha

https://dl.doubtnut.com/l/_76CPrvoMer6u
https://dl.doubtnut.com/l/_qmgvZwri4DpI


A. 114

B. 98

C. 84

D. 125

Answer: D

Watch Video Solution

5β1σ9α7θ142 = ?

5. In the question given below, the symbols used are as 

 equal to 


= not equal to 


= greater than 


= less than 


= not less than 


O = not greater than Read the question and mark the correct response. 

If  then it does not.

Δ =

⊕

+

Ø

−

X − Y − Z

https://dl.doubtnut.com/l/_76CPrvoMer6u
https://dl.doubtnut.com/l/_eLL2FEbXNmI3


A. 

B. 

C. 

D. 

Watch Video Solution

X ⊕ Y ΔZ

XOY + Z

XØY − Z

XØY + Z

6. If , then value of 

 is

A. 480

B. 720

C. 

D. 

Answer: D

Watch Video Solution

x % y = y2 − x2, x$y = x ÷ y2, x#y = 2xy

{(13 % 5)$6}#15

−360

−120

https://dl.doubtnut.com/l/_eLL2FEbXNmI3
https://dl.doubtnut.com/l/_wzVNpNB7tInP


Watch Video Solution

7. In a certain code language,  represents  represents 

represents  and  respresents . Find out the answer to the

following question. 

A. 295

B. 290

C. 209

D. 105

Answer: A

Watch Video Solution

@ + ⊕ ' − ' , α

' ÷ ' ' ө' ' × '

107 ө 3 ⊕ 64α8 ⊕ 2 ө 9 = ?

8. If  then 

A. 43

324 ⊕ 289 = 35, 441 ⊕ 484 = 43 625 ⊕ 400 = ?

https://dl.doubtnut.com/l/_wzVNpNB7tInP
https://dl.doubtnut.com/l/_DI8AJ6MP9DqE
https://dl.doubtnut.com/l/_TbLeZz1mOKq7


B. 45

C. 34

D. 44

Watch Video Solution

9. If  means '"subtraction". "&" means "division",  means "addition"

and "%" means "multiplication", then 

A. 21

B. 19

C. 22

D. 42

Answer: D

Watch Video Solution

' ' #' ' @

217&7#3  @ 2 % 7 = ?

https://dl.doubtnut.com/l/_TbLeZz1mOKq7
https://dl.doubtnut.com/l/_WCYSEnzDeIxt


TYPE-I (v)

1. Which of the following options is correct ?

Watch Video Solution

https://dl.doubtnut.com/l/_WCYSEnzDeIxt
https://dl.doubtnut.com/l/_welfwnuXa3an


2. Which of the following options is correct ?

A. 8

B. 9

C. 7

D. 6

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3sIKKNG8xoBM
https://dl.doubtnut.com/l/_c5RZKeZyI73B


3. Which of the following options is correct ?

A. 54

B. 10

C. 12

D. 14

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_c5RZKeZyI73B


4. ,

Watch Video Solution

https://dl.doubtnut.com/l/_c5RZKeZyI73B
https://dl.doubtnut.com/l/_s2MsDuTdiqTH


5.  


then wirte the answer in symbol 

https://dl.doubtnut.com/l/_4CRF5QRT0VdD


Watch Video Solution

6. If rectangle = 12, triangle = 15, square = 6, parallelogram = 4 and circle =

3, solve the equation using the above values and answer in figures. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

= ?
rectangle + square

trianlge

4
5

3

5

6

5

2

3

https://dl.doubtnut.com/l/_4CRF5QRT0VdD
https://dl.doubtnut.com/l/_x1acNlFB3rK6


Watch Video Solution

7. Certain numbers have symbols as given below. 

 


What is the number indicated by these symbols ? 

A. 5 6 9 0 7

B. 4 5 0 9 6

C. 4 5 9 0 6

D. 4 7 0 9 5

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_x1acNlFB3rK6
https://dl.doubtnut.com/l/_iZlHTgZ0zbZT


8. Identify the symbols to be inserted to make the expression correct. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

24Δ4Δ5Δ4

× + ×

= × +

× + =

+ = ×

9. Select the missing symbol from the given order : 

A. 

https://dl.doubtnut.com/l/_0FM5jdoPuoP5
https://dl.doubtnut.com/l/_UVaEbyAjL0vd


B. 

C. 

D. 

Answer: D

Watch Video Solution

△

∘

10. Which of the following options is correct ?

A. 

B. 

C. 

a □ c

bOc

b □ d

https://dl.doubtnut.com/l/_UVaEbyAjL0vd
https://dl.doubtnut.com/l/_1t8RtJoIJ0Ux


D. 

Answer: D

Watch Video Solution

b#d

11. If  means subtraction, '-' means division,  means addition and

'%' means multiplication, then find the value of : 

A. 18

B. 14

C. 12

D. 8

Answer: A

Watch Video Solution

' ∗ ' ' □ '

13 □ 3 ∗ 6 % 8 − 4 □ 14 = ?

https://dl.doubtnut.com/l/_1t8RtJoIJ0Ux
https://dl.doubtnut.com/l/_u02Ptw3UDJMO


TYPE-I (vi)

1. Directions : In the following question you have to identify the correct

response from the given premises stated according to following symbols. 

If  and

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

> = ÷ , < = + , ∧ = − , × = < , − = > , + = =

∨ = ×

6 > 3 < 2 ∧ 4 ∨ 8 − 13

6 ∧ 3 < 2 > 4 ∨ 8 + 13

6 ∨ 3 ∧ 2 > 4 < 8 × 13

6 ∨ 3 > 2 < 4 ∧ 8 × 13

2. Directions : In the following question you have to identify the correct

response from the given premises stated according to following symbols. 

https://dl.doubtnut.com/l/_UBdobNGvFPcf
https://dl.doubtnut.com/l/_X9SITGH6yrEc


If 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

> = ÷ , ∨ = × , < = + , ∧ = − , + = = , × = < , − = >

6 < 2 > 3 ∧ 8 ∨ 4 + 13

6 ∧ 3 < 2 > 4 ∨ 8 + 13

6 ∨ 2 < 3 ∧ 8 > 4 × 13

6 > 2 ∨ 3 < 8 ∧ 4 + 13

3. If  stands for greater than'.  stands for 'addition' + stands for

division. - stands for 'equal to  stands for 'multiplication, = stands

for 'less than',  stands for 'minus' then which of the following

alternatives is correct?

A. 

B. 

÷ ×

' > '

<

5 > 2 < 1 − 3 × 4 × 1

5 < 2 × 1 ÷ 3 > 4 × 1

https://dl.doubtnut.com/l/_X9SITGH6yrEc
https://dl.doubtnut.com/l/_WcrFezKi72kO


C. 

D. 

Answer: C

Watch Video Solution

5 > 2 × 1 − 3 > 4 < 1

5 + 2 × 1 = 3 + 4 > 1

4. If  stands for addition,  for subtraction, + stands for division, >

stands for multiplication, - stands for equal,  stands for greater than,

and = stands for less than, state which of the following is true?

A. 

B. 

C. 

D. 

Watch Video Solution

× <

÷

5 > 8 + 4 = 10 < 4 × 8

3 × 4 > 2 − 9 + 3 < 3

5 × 3 < 3 ÷ 8 + 4 × 1

3 × 2 < 4 ÷ 16 > 2 × 4

https://dl.doubtnut.com/l/_WcrFezKi72kO
https://dl.doubtnut.com/l/_jCDozYGvs3xn
https://dl.doubtnut.com/l/_oZW8VAepPFvS


5. If '+' stands for 'multiplication',  stands for division',  stands

for s u b t r a c t i o n,' '-' stands for 'addition' and  stands for 'greater

than', identify which expression is correct.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

' < ' ' ÷ '

' × '

20 − 4 ÷ 4 + 8 < 2 × 26

20 × 8 + 15 < 5 ÷ 9 − 8

20 < 2 + 10 ÷ 4 − 6 × 100

20 < 5 + 25 ÷ 10 − 2 × 96

6. In the following problem, 

= stands for  


+ stands for - 

 stands for = 


- stands for  

÷

×

>

https://dl.doubtnut.com/l/_oZW8VAepPFvS
https://dl.doubtnut.com/l/_g2WzVEDE7Got


 stands for  


 stands for  

 stands for  


When these new symbols are substituted, only one will be wrong. Identify

the wrong one.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

> +

< ×

÷ <

4 < 2 + 5 + 8 × 5

4 = 2 + 5 + 8 × 5

4 < 2 > 5 + 8 × 5

4 > 2 < 5 + 8 − 5

7. If  denotes +,  denotes -, + denotes  denotes 

denotes  denotes  denotes  choose the correct

statement in each of the following questions.

> < ÷ , ∧ × , −

= , × > and = < ,

https://dl.doubtnut.com/l/_g2WzVEDE7Got
https://dl.doubtnut.com/l/_3i64twhI2Qvj


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

13 > 7 < 6 + 2 = 3 ∧ 4

9 > 5 > 4 − 18 + 9 > 16

9 < 3 < 2 > 1 × 8 ∧ 2

28 + 4 ∧ 2 = 6 ∧ 4 + 2

8. You have to follow the symbolic Interpretation to solve the problem 

+= greater than 

-= not less than 

|= less than 

 =not greater than 

= equal to 


 = not equal to 

If  which of the following implied?

A. 

ϕ

×

∠

x∠y + z

x × y ∣ z

https://dl.doubtnut.com/l/_3i64twhI2Qvj
https://dl.doubtnut.com/l/_fbEszcO9krPr


B. 

C. 

D. 

Answer: D

Watch Video Solution

x − y × z

x∠yϕz

x − y∠z

9. Identify the correct response from the given premises stated according

to following symboles. 

'A' stands for not less than  


'B' stands for not equal to  


'C' stands for not greater than  


'D' stands for greater than  


'E' stands for less than  


'F' stands for equal to 

A. 2 Y D 3 Z

B. 2 Y E 3 Z

( < )

( ≠ )

( > )

( > )

( < )

( = )

https://dl.doubtnut.com/l/_fbEszcO9krPr
https://dl.doubtnut.com/l/_TXITv19SFhxx


C. 4 Y B 5 Z

D. 2 Y F 3 Z

Answer: D

Watch Video Solution

10. If '+' stands for'+', '-' stands for '=', 'x' stands for '+', '+' stands for

greater than, '=' stands for less then, '>' stands for multiplication and '<'

stands for subtraction, then which of the following alternatives is

correct? 

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

5 ÷ 2 × 1 = 3 + 4 > 1

5 > 2 × 1 − 3 > 4 < 1

5 × 2 < 1 − 3 < 4 × 1

5 < 2 × 1 ÷ 3 > 4 × 1

https://dl.doubtnut.com/l/_TXITv19SFhxx
https://dl.doubtnut.com/l/_p8Qf6FZIUJUW


Watch Video Solution

11. If '+' means subtraction,  means addition,  means

multiplication and  means division, then find the value of the given

statement. The value of  will be

A. 32

B. 18

C. 16

D. 11

Answer: A

Watch Video Solution

' ÷ ' ' < '

' > '

9 ÷ 7 < 8 > (4 > 2) + 5

12. If '+' means division, '-' means multiplication,  means subtraction, 

 means addition and  means less then then which of the

following is false?

' ÷ '

' × ' ' < '

https://dl.doubtnut.com/l/_p8Qf6FZIUJUW
https://dl.doubtnut.com/l/_rRxMEyE4keh4
https://dl.doubtnut.com/l/_9TGz8Z2KKPnc


TYPE-I (vii)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(10 + 2) ÷ 7 < (10 ÷ 7) + 2

(10 − 7) × 2 < (10 × 2) − 7

(10 × 7) − 2 < (10 − 2) × 7

(10 ÷ 2) + 7 < (10 + 7) × 2

1. In the following question you have to identify the correct response

from the given premises stated according to the following symbols. 

If  stands for 'greater than',  stands for 'addition', + stands for

'division', - stands for 'equal to',  stands for 'multiplication',= stands for

'less than',  stands for 'minus', then which of the following alternatives

is correct?

÷ ×

>

<

https://dl.doubtnut.com/l/_9TGz8Z2KKPnc
https://dl.doubtnut.com/l/_iGI9p6q1zMyc


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3 + 2 < 4 ÷ 6 > 3 × 2

3 × 2 < 4 ÷ 6 + 3 < 2

3 > 2 < 4 − 6 × 3 × 2

3 × 2 × 4 = 6 + 3 < 2

2. If '+' stands for'+', '-' stands for '=', 'x' stands for '+', '+' stands for greater

than, '=' stands for less then, '>' stands for multiplication and '<' stands

for subtraction, then which of the following alternatives is correct? 

A. 

B. 

C. 

D. 

5 + 2 × 1 = 3 + 4 > 1

5 > 2 × 1 − 3 > 4 < 1

5 × 2 < 1 − 3 < 4 × 1

5 < 2 × 1 ÷ 3 > 4 × 1

https://dl.doubtnut.com/l/_iGI9p6q1zMyc
https://dl.doubtnut.com/l/_5oqKCmbSa1CU


Answer: B

Watch Video Solution

3. Which of the following options is correct ?

Watch Video Solution

4. Some equations are solved on the basis of a certain system. Find out

the correct answer for the unsolved equation on that basis. 

If  and  what is 8 + 8 = 72, 5 + 5 = 30 7 + 7 = 56, 6 + 6 = ?

https://dl.doubtnut.com/l/_5oqKCmbSa1CU
https://dl.doubtnut.com/l/_gmdjjKS4Dtpa
https://dl.doubtnut.com/l/_ZJAhSCgSJLNP


A. 40

B. 42

C. 30

D. 36

Answer: B

Watch Video Solution

5. Some equations are solved on the basis of a certain system. Find out

the correct answer for the unsolved equation on that basis. 

If  then, what should  be?

A. 4

B. 9

C. 5

D. 6

3 ÷ 5 = 5, 4 ÷ 7 = 8, 8 ÷ 7 = 6 9 ÷ 6

https://dl.doubtnut.com/l/_ZJAhSCgSJLNP
https://dl.doubtnut.com/l/_jd4jXpFMTnsd


Answer: A

Watch Video Solution

6. Some equations are solved on the basis of a certain system. On the

same basis find out the correct answer for the unsolved equation. 

If  what is 

A. 80

B. 

C. 8

D. 0

Answer: B

Watch Video Solution

8 × 2 = 61, 8 × 5 = 04 8 × 10 = ?

08

https://dl.doubtnut.com/l/_jd4jXpFMTnsd
https://dl.doubtnut.com/l/_MLJOwYn5GgDS


7. Some equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis. 

A. 815

B. 384

C. 438

D. 834

Answer: B

Watch Video Solution

5 + 7 + 2 = 725, 6 + 9 + 0 = 906, 8 + 4 + 3 = ?

8. Some equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis. 

 


 


7 − 4 − 1 = 714,

9 − 2 − 3 = 932

8 − 0 − 4 = ?

https://dl.doubtnut.com/l/_7BrR5zz2X8pe
https://dl.doubtnut.com/l/_TnwzNSHl4fZx


A. 804

B. 840

C. 408

D. 480

Answer: C

Watch Video Solution

9. Some equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis. 

A. 334

B. 499

C. 699

D. 634

678 = 366, 567 = 255, 946 = ?

https://dl.doubtnut.com/l/_TnwzNSHl4fZx
https://dl.doubtnut.com/l/_nY6XYk8hT2to


Answer: B

Watch Video Solution

10. If  then 7 + 8 = ?

A. 41

B. 23

C. 30

D. 32

Answer: D

Watch Video Solution

1 + 4 = 9, 2 + 8 = 18, 3 + 6 = 15

11. Some equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis. 

, 
4 × 5 = 42

https://dl.doubtnut.com/l/_nY6XYk8hT2to
https://dl.doubtnut.com/l/_5vfppoYtgQpR
https://dl.doubtnut.com/l/_GsB55zLbnnXR


, 


 


A. 84

B. 90

C. 92

D. 102

Answer: B

Watch Video Solution

5 × 6 = 56

6 × 7 = 72

7 × 8 = ?

12. Some equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis. 

 


A. 2

58 × 12 = 4, 37 × 96 = 5,

11 × 20 = 2, 42 × 12 = ?

https://dl.doubtnut.com/l/_GsB55zLbnnXR
https://dl.doubtnut.com/l/_lK8ZmXnGq1LB


B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

13. Some equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis. 

A. 169

B. 130

C. 140

D. 144

Answer: B

5 × 8 = 28, 3 × 7 = 12, 8 × 6 = 35, 13 × 13 = ?

https://dl.doubtnut.com/l/_lK8ZmXnGq1LB
https://dl.doubtnut.com/l/_cNce45EFGDHh


Watch Video Solution

14. In each of the following questions, some equations are solved on the

basis of certain system. Find out the correct answer for the unsolved

equation on that basis. 

A. 10

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 × 4 × 6 = 4, 9 × 3 × 7 = 13, 4 × 7 × 6 = 3, 9 × 7 × 8 = ?

09

08

07

15. In each of the following questions, some equations are solved on the

basis of certain system. Find out the correct answer for the unsolved

https://dl.doubtnut.com/l/_cNce45EFGDHh
https://dl.doubtnut.com/l/_GsyDQbQkXRWl
https://dl.doubtnut.com/l/_W0D9kNhvgszF


equation on that basis. 

A. 33

B. 25

C. 144

D. 1152

Answer: A

Watch Video Solution

3 × 5 × 7 × 2 = 24, 2 × 4 × 6 × 8 = 22, 4 × 4 × 8 × 9 = ?

16. If  and , what will  be?

A. 54

B. 50

C. 45

D. None of the above

7 × 8 = 49, 4 × 4 = 12 6 × 4 = 18 9 × 6

https://dl.doubtnut.com/l/_W0D9kNhvgszF
https://dl.doubtnut.com/l/_i4aZThh8uHRx


Answer: A

Watch Video Solution

17. Some equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis

A. 

B. 77

C. 

D. 18

Answer: C

Watch Video Solution

−59

−15

18. Some equations are solved on the basis of a certain system. On the

same basis, find out the correct answer for the unsolved equation. 

https://dl.doubtnut.com/l/_i4aZThh8uHRx
https://dl.doubtnut.com/l/_LBFximFyevA2
https://dl.doubtnut.com/l/_mtg83HrPFaFc


 


 


 


A. 527

B. 752

C. 725

D. 257

Answer: A

Watch Video Solution

2 × 3 × 4 = 432

5 × 6 × 7 = 765

7 × 8 × 9 = 987

2 × 5 × 7 = ?

19. If , then 

A. 11

B. 12

C. 16

2 × 16 = 8, 8 × 8 = 1, 6 × 12 = 2 12 × 144 = ?

https://dl.doubtnut.com/l/_mtg83HrPFaFc
https://dl.doubtnut.com/l/_acQiL2hG3OIB


D. 24

Answer: B

Watch Video Solution

20. Some equations are based on the basis of a certain system. Using the

same solve the unsolved equation. 

If 10 - 3 = 12, 12 - 4 = 13, 

14 -5 = 14, what is 16 -6?

A. 10

B. 15

C. 16

D. 18

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_acQiL2hG3OIB
https://dl.doubtnut.com/l/_5gFJ1pOXTsjH


21. If 1 candle in box number 1 is placed in box number 2, then box -2 has

twice the number of candles that box 1 has. If 1 candle from box-2 is

placed in box-1, then box-2 and box-1 have the same number of candles.

How many candles were there in box-1 and box-2 ? 

Watch Video Solution

22. In the imaginary language, the digits 0,1,2,3,4,5,6,7,8 and 9 are

substituted by a,b,c,d,e,f,g,h, I and j. And 10 is written as be. 

https://dl.doubtnut.com/l/_gpXr2hwF3Waq
https://dl.doubtnut.com/l/_arDQul0rA8MS


 is equal to

A. bcf

B. abe

C. abb

D. bce

Answer: D

Watch Video Solution

dc × f − (bf − d) × d

23. Some equations have been solved on the basis of a certain system.

Find the correct answer for the unsolved equation on that basis. 

,then 

A. 39

B. 32

C. 26

29 × 13 = 14, 76 × 26 = 34 64 × 14 = ?

https://dl.doubtnut.com/l/_arDQul0rA8MS
https://dl.doubtnut.com/l/_fBUDentLxhV0


D. 54

Answer: D

Watch Video Solution

24. If  and  then 

A. 495

B. 459

C. 549

D. 954

Answer: C

Watch Video Solution

4 × 5 × 2 = 524, 3 × 7 × 2 = 723 6 × 8 × 7 = 876

9 × 4 × 5 = ?

https://dl.doubtnut.com/l/_fBUDentLxhV0
https://dl.doubtnut.com/l/_f0bZ03GU61rU


25. Some equations have been solved on the basis of certain system, Find

the correct answer for the unsolved equation on that basis. 

If  'then 

A. 51

B. 22

C. 42

D. 15

Answer: B

Watch Video Solution

98 − 39 − 27 = 31, 87 − 38 − 34 = 20, 79 − 25 − 12 = ?

26. In this question, some equations are solved on the basis of a certain

system. On the same basis find out the correct answer from amongst the

four alternatives for the unsolved equation. 

53-34=5334 

https://dl.doubtnut.com/l/_s3wDGFWZweFB
https://dl.doubtnut.com/l/_8epKRRddBhMx


65-46=6456 

75-24=?

A. 7542

B. 7524

C. 7452

D. 7254

Answer: A

Watch Video Solution

27. In this question some equation are solved on the base of a certain

system on the the same base find out the correct answer from amongst

the four alternatives for the unsolved equation . 

 


 


6 × 2 × 9 = 269

8 × 7 × 1 = 781

4 × 1 × 3 = ?

https://dl.doubtnut.com/l/_8epKRRddBhMx
https://dl.doubtnut.com/l/_VqVMcI6cOUNB


A. 431

B. 413

C. 341

D. 143

Answer: D

Watch Video Solution

28. In this question, some equation are solved on the basis of a certain

system. On the same bases find out the correct answer from amongst the

four alternatives for the un· solved equation. 

कु छ समीकरण एक निश्चित प्रणाली से हल किए गए हैं। उसी आधार पर दिए गए विकल्पों में से

सही उत्तर चुनकर लिखिए? 

 

 

A. 324

3 × 4 × 5 = 435

4 × 3 × 2 = 342

2 × 3 × 4 = ?

https://dl.doubtnut.com/l/_VqVMcI6cOUNB
https://dl.doubtnut.com/l/_jk1IVAP2d61v


B. 342

C. 432

D. 243

Answer: D

Watch Video Solution

29. If 17+17=2895 

18+18=3245 

19+19=3615 

then, 23+23=?

A. 5765

B. 5295

C. 2565

D. 4005

https://dl.doubtnut.com/l/_jk1IVAP2d61v
https://dl.doubtnut.com/l/_18DuVX2AvRDJ


Answer: A

Watch Video Solution

30. If  and , then 

A. 38

B. 93

C. 16

D. 10

Answer: B

Watch Video Solution

24 × 2 = 84 32 × 3 = 69 13 × 3 = ?

31. If 4 + 3 = 25 and 8 + 4 = 80 then, 3 + 2 = ? 

अगर 4 + 3 = 25 और 8 + 4 = 80 हो, तो 3 + 2 = ?

https://dl.doubtnut.com/l/_18DuVX2AvRDJ
https://dl.doubtnut.com/l/_TyYHtw5yZqVY
https://dl.doubtnut.com/l/_B6zUihb73jl5


A. 15

B. 10

C. 13

D. 12

Answer: B

Watch Video Solution

32. If , and , then find the value of 

A. 320

B. 360

C. 316

D. 318

Answer: C

12 × 16 = 188 14 × 18 = 248

16 × 20 = ?

https://dl.doubtnut.com/l/_B6zUihb73jl5
https://dl.doubtnut.com/l/_zLpqCFHktpCF


Watch Video Solution

33. If  


 


A. 360

B. 376

C. 332

D. 356

Answer: D

Watch Video Solution

64 + 7 = 460

43 + 8 = ?

25 + 8 = 212

34. If  then then 

 


6 × 9 × 3 = 963 and 4 × 8 × 5 = 845 9 × 4 × 7 = ?

9 × 4 × 7 = ?

https://dl.doubtnut.com/l/_zLpqCFHktpCF
https://dl.doubtnut.com/l/_W6yqLvG5yavL
https://dl.doubtnut.com/l/_y4ut2nyB8DCM


यदि  और  तो 

A. 974

B. 479

C. 497

D. 749

Answer: C

Watch Video Solution

6 × 9 × 3 = 963 and 4 × 8 × 5 = 845 4 × 8 × 5 = 845,

9 × 4 × 7 = ?

35. If, , then find the value of .

A. 20

B. 26

C. 30

D. 42

4 × 3 = 14, 5 × 4 = 18, 6 × 5 = 22 7 × 6

https://dl.doubtnut.com/l/_y4ut2nyB8DCM
https://dl.doubtnut.com/l/_vhQTcnsxFtiO


Answer: B

Watch Video Solution

36. In this question, some equations are solved on the basis of a certain

system. On the same basis find out the correct answer from amongst the

four alternatives for the unsolved equation. 

A. 689

B. 698

C. 968

D. 986

Answer: B

Watch Video Solution

8 × 5 × 0 = 805, 7 × 4 × 6 = 764, 6 × 8 × 9 = ?

https://dl.doubtnut.com/l/_vhQTcnsxFtiO
https://dl.doubtnut.com/l/_BUKf8VdRYWga


37. If , then 13=?

A. 2197

B. 10648

C. 56743

D. 17576

Answer: A

Watch Video Solution

34 = 39304, 27 = 19683

38. If then find the valae

of  ? 


यदि  और  हो, तो 

किसके  बराबर होगा?

A. 361529441

B. 361441289

1 × 3 × 5 = 1925 and 7 × 9 × 11 = 4981121,

19 × 21 × 23 =

1 × 3 × 5 = 1925 7 × 9 × 11 = 4981121 19 × 21 × 23

https://dl.doubtnut.com/l/_CFXzarn48vOV
https://dl.doubtnut.com/l/_qZOhczlA753m


C. 441361289

D. 361441529

Answer: D

Watch Video Solution

39. Given equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis : 

 and , then 

A. 48

B. 70

C. 14

D. 59

Answer: B

Watch Video Solution

2 + 4 + 6 = 48 3 + 2 + 8 = 48 2 + 5 + 7 = ?

https://dl.doubtnut.com/l/_qZOhczlA753m
https://dl.doubtnut.com/l/_KYt6dVLByF7B


40. Some equation are solved on the basis of a certain ystem. On the

same basis. Find out the correct answer from amongst the four

alternatives to the unsolved equations. 

1 × 2 × 3 = 231

3 × 4 × 5 = 453

5 × 6 × 7 = ?

A. 657

B. 675

C. 756

D. 765

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KYt6dVLByF7B
https://dl.doubtnut.com/l/_0sp5KLrOd0Zn


41. If  


 


then  


यदि  


 

तो 

A. 617

B. 716

C. 167

D. 761

Answer: D

Watch Video Solution

5 × 4 × 0 = 405

3 × 2 × 8 = 283

1 × 7 × 6 = ?

5 × 4 × 0 = 405

3 × 2 × 8 = 283

1 × 7 × 6 = ?

https://dl.doubtnut.com/l/_HsRUNLJegqtr


42. If ,


then find the value of . 


यदि , तो  का मान बताइए।

A. 1

B. 2

C. 3

D. 4

Answer: A

Watch Video Solution

56 × 11 = 9, 37 × 13 = 6, 42 × 12 = 3

87 × 77

56 × 11 = 9, 37 × 13 = 6, 42 × 12 = 3 87 × 77

43. Some equations are solved on the basis of certain systern. Find out

the correct answer for unsolved equ ation on that basis : 

कु छ समीकरणों को एक निश्चित प्रणाली के  आधार पर हल किया जाता है। उसी आधार पर इस

https://dl.doubtnut.com/l/_N05GRsHMcP6j
https://dl.doubtnut.com/l/_f5ZNoyrXTIS3


समीकरण का सही उत्तर बताइए। ? 

A. 397

B. 793

C. 973

D. 739

Answer: D

Watch Video Solution

4 × 5 × 8 = 584, 7 × 3 × 9 = 397, 9 × 7 × 3 = ?

44. If 879=8, 625 =1 and 586 =9, then 785=?

A. 6

B. 7

C. 8

D. 9

https://dl.doubtnut.com/l/_f5ZNoyrXTIS3
https://dl.doubtnut.com/l/_TOVShE7erP0c


Answer: A

Watch Video Solution

45. If , then 

A. 3918

B. 3678

C. 3819

D. 1839

Answer: A

Watch Video Solution

84 + 96 = 4842 36 + 78 = ?

46. In this question, some equations are solved on the basis of a certain

system. On the same basis find out the correct answer from amongst the

four alternatives for the unsolved equation. 

https://dl.doubtnut.com/l/_TOVShE7erP0c
https://dl.doubtnut.com/l/_SSiBWgxRqNyk
https://dl.doubtnut.com/l/_Py0hgz0virqC


 


 


A. 745

B. 773

C. 945

D. 743

Answer: C

Watch Video Solution

462 = 551

398 = 487

856 = ?

47. In this question, some equations are solved on the basis of a certain

system. On the same basis find out the correct answer from amongst the

four alternatives for the unsolved equation. 

, 


, 


7 × 5 × 6 = 576

4 × 2 × 5 = 245

8 × 2 × 5 = ?

https://dl.doubtnut.com/l/_Py0hgz0virqC
https://dl.doubtnut.com/l/_Cf4VpLK7XPLe


A. 258

B. 285

C. 582

D. 852

Answer: B

Watch Video Solution

48. A certain system is followed to solve the problem . Accordingly find

out the correct answer from the alternatives for the unsolved equation. 

 


 


 


A. 286

B. 682

7 × 4 × 9 = 479

9 × 5 × 2 = 592

6 × 9 × 5 = 965

8 × 6 × 2 = ?

https://dl.doubtnut.com/l/_Cf4VpLK7XPLe
https://dl.doubtnut.com/l/_sjMa0z5bWpzR


C. 628

D. 268

Answer: B

Watch Video Solution

49. In this question, some equations are solved on the basis of a certain

system. On the same basis find out the cor rect answer from amongst the

four alternatives for the unsolved equation. 

 


 


 


कु छ समीकरण एक निश्चित प्रणाली से हल किए गए हैं। उसी आधार पर दिए गए विकल्पों में से

सही उत्तर चुनकर लिखिए ? 

 


 


15 × 26 = 6512

29 × 36 = 6923

46 × 54 = ?

15 × 26 = 6512

29 × 36 = 6923

46 × 54 = ?

https://dl.doubtnut.com/l/_sjMa0z5bWpzR
https://dl.doubtnut.com/l/_ssFJ0SDtHP8g


A. 5464

B. 4645

C. 4564

D. 4465

Answer: B

Watch Video Solution

50. If , then 

A. 511

B. 610

C. 510

D. 410

Answer: C

Watch Video Solution

23 × 16 = 184, 37 × 10 = 185 85 × 12 = ?

https://dl.doubtnut.com/l/_ssFJ0SDtHP8g
https://dl.doubtnut.com/l/_S8AeAP66NPoR


51. Some equations are solved on the basis of certain system. Find the

correct answer for the unsolved equation on that basis. 

, 


 


A. 210

B. 220

C. 230

D. 240

Answer: D

Watch Video Solution

5 × 4 × 3 = 70

6 × 5 × 4 = 140

7 × 6 × 5 = ?

52. Some equations have been solved on the basis of a certain pattern.

Find the correct answer for the unsolved equation on that basis. 

https://dl.doubtnut.com/l/_S8AeAP66NPoR
https://dl.doubtnut.com/l/_1pcM4aLeKmc2
https://dl.doubtnut.com/l/_KHxht7wIcfGs


 


 


A. 583

B. 853

C. 841

D. 481

Answer: B

Watch Video Solution

8 × 7 × 6 = 765

5 × 3 × 2 = 421

9 × 6 × 4 = ?

53. In this question, some equations are solved on the basis of a certain

system. On the same basis find out the correct answer from amongst the

four alternatives for the unsolved equation. 

 


 


7 × 6 × 8 = 678

8 × 9 × 7 = 987

https://dl.doubtnut.com/l/_KHxht7wIcfGs
https://dl.doubtnut.com/l/_87KXS9P7wKwH


 


A. 456

B. 564

C. 645

D. 654

Answer: A

Watch Video Solution

6 × 5 × 7 = 567

5 × 4 × 6 = ?

54. If,  


 


 then 

A. 35

B. 24

C. 27

6 × 4 = 12

4 × 12 = 24

12 × 6 = 36 6 × 9 = ?

https://dl.doubtnut.com/l/_87KXS9P7wKwH
https://dl.doubtnut.com/l/_Pa3g4ITBUoBu


D. 31

Answer: C

Watch Video Solution

55. Some equations have been solved on the basis of certain system. Find

out'the correct answer for the unsolved equation on that basis. 

A. 742

B. 247

C. 724

D. 472

Answer: B

Watch Video Solution

9 × 7 × 4 = 794, 3 × 4 × 6 = 436, 4 × 2 × 7 = ?

https://dl.doubtnut.com/l/_Pa3g4ITBUoBu
https://dl.doubtnut.com/l/_eyyaZMxONZjQ
https://dl.doubtnut.com/l/_NLGOLTSbzsPf


56. In this question, some equations are solved on the basis of a certain

system. On the same basis find out the correct answer from amongst the

four alternatives for the unsolved equation. 

 


 


A. 60

B. 80

C. 58

D. 76

Answer: B

Watch Video Solution

8 + 5 − 5 = 45

12 + 6 − 5 = 77

14 + 5 − 10 = ?

57. A certain system is followed to solve the problem . Accordingly find

out the correct answer from the alternatives for the unsolved equation. 

 
7 × 4 × 9 = 479

https://dl.doubtnut.com/l/_NLGOLTSbzsPf
https://dl.doubtnut.com/l/_GP8RMNjV6TBI


 


 


A. 286

B. 682

C. 628

D. 268

Answer: B

Watch Video Solution

9 × 5 × 2 = 592

6 × 9 × 5 = 965

8 × 6 × 2 = ?

58. If ""#"" means "subtraction", "&" means "division",  means "addition"

and "%" means "multiplication", then 505 & 5 # 4  20 % 5 =?

A. 211

B. 197

C. 210

@

@

https://dl.doubtnut.com/l/_GP8RMNjV6TBI
https://dl.doubtnut.com/l/_yukOYSTfmPAf


D. 195

Answer: C

Watch Video Solution

59. If  denotes ''added to'', ''&'' denotes ''divided by'',  denotes

''multiplied by'' and ''%'' denotes ''subtracted from'', then 399 & 19  21%

41 

A. 458

B. 500

C. 575

D. 600

Answer: B

Watch Video Solution

' ' ∗ ' ' ''@''

@

∗ 100 = ?

https://dl.doubtnut.com/l/_yukOYSTfmPAf
https://dl.doubtnut.com/l/_8eLjkFQjLbLX
https://dl.doubtnut.com/l/_SZAU9dQdshZG


60. If  and , then 

A. 38

B. 51

C. 42

D. 46

Answer: D

Watch Video Solution

4 ∗ 9 % 2 = 47 9 ∗ 0 % 6 = 84 5 ∗ 3 % 7 = ?

61. If  and , then 

A. 416

B. 461

C. 368

D. 638

1/4/3 = 254 3/6/8 = 479 5/2/7 = ?

https://dl.doubtnut.com/l/_SZAU9dQdshZG
https://dl.doubtnut.com/l/_LQwhM2gy1nOB


Answer: D

Watch Video Solution

62. If  and , then 

A. 17

B. 22

C. 13

D. 26

Answer: A

Watch Video Solution

62 % 22 ∧ 32 = 41 72 % 52 ∧ 22 = 28 52 % 32 ∧ 12 = ?

63. If 14$ 8= 91 and 18 $ 4= 51 then 21 $ 9= ?

A. 160

https://dl.doubtnut.com/l/_LQwhM2gy1nOB
https://dl.doubtnut.com/l/_W6jleTE6vZMN
https://dl.doubtnut.com/l/_JsS1Ujw5BCuJ


B. 155

C. 151

D. 168

Answer: A

Watch Video Solution

64. If 15 (196) 29 and 16 (100) 6, then what is the value of ‘A’ in 31 (A) 48?

A. 361

B. 256

C. 324

D. 289

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JsS1Ujw5BCuJ
https://dl.doubtnut.com/l/_FkPtgBYcJH0t
https://dl.doubtnut.com/l/_6iypBxSw5esH


65. Correct the following equation by interchanging the two signs and

two numbers. 

A.  and 4,5

B.  and 4,5

C.  and 5,6

D.  and 5,6

Answer: C

Watch Video Solution

7 × 6 + 5 − 4 = 33

−, ×

× , +

+, −

× , −

66. If  and  then 

A. 4

B. 8

C. 10

3@3 ∗ 3x = 3 48@4 ∗ 3 = 36 91@13 ∗ 2 = ?

https://dl.doubtnut.com/l/_6iypBxSw5esH
https://dl.doubtnut.com/l/_HeHqMPZQggOS


D. 14

Answer: D

Watch Video Solution

67. If 19 (36) 13 and 37 (81) 28 then what is the value of 'A' in 43 (A) 38 ?

A. 39

B. 25

C. 34

D. 64

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HeHqMPZQggOS
https://dl.doubtnut.com/l/_WUtacj8z9Qli


68. If , then 


A. 5

B. 6

C. 7

D. 9

Answer: A

Watch Video Solution

4 × 9 × 3 = 4 and 5 × 3 × 1 = 3

9 × 9 × 7 = ?

69. If  and , then 

A. 218

B. 262

C. 253

D. 259

(3)2@1 ∗ 7 = 98 (4)2@2 ∗ 16 = 178 (5)2@3 ∗ 9 = ?

https://dl.doubtnut.com/l/_D5WpyG7sxquv
https://dl.doubtnut.com/l/_AU4QPIJQb5Jj


Answer: B

Watch Video Solution

70. If  then what is the value of A

in 

A. 5

B. 8

C. 12

D. 17

Answer: C

Watch Video Solution

6 ∘ 4 ∘ 7 = 101  and 2 ∘ 5 ∘ 11 = 150,

A ∘ 8 ∘ 9 = 289?

71. If 27 (15) 33 and 41 (13) 53, then what is the value of 'A' in 26 (A) 35?

https://dl.doubtnut.com/l/_AU4QPIJQb5Jj
https://dl.doubtnut.com/l/_8BAWEuDjLreW
https://dl.doubtnut.com/l/_qUoCDSaAS5mD


A. 16

B. 13

C. 14

D. 11

Answer: A

Watch Video Solution

72. If  and , then 

A. 878

B. 818

C. 794

D. 776

Answer: B

Watch Video Solution

18 × 12 = 206 19 × 22 = 408 23 × 36 = ?

https://dl.doubtnut.com/l/_qUoCDSaAS5mD
https://dl.doubtnut.com/l/_FjetwzIf1QLt


73. If 11 $ 25 =18 ,12$ 20=16 then what is the value of 4$ 50 =?

A. 42

B. 17

C. 27

D. 37

Answer: C

Watch Video Solution

74. If 35% 31 = 12, 92% 30 = 14 then what is the value of 15% 24 = ?

A. 12

B. 25

C. 33

https://dl.doubtnut.com/l/_FjetwzIf1QLt
https://dl.doubtnut.com/l/_6rJUG213cDSH
https://dl.doubtnut.com/l/_ncCT3dfLvcNK


D. 28

Answer: A

Watch Video Solution

75. If  then what is the value of 

A. 47

B. 4

C. 5

D. 24

Answer: C

Watch Video Solution

6#30 = 5, 8#24 = 3, 7#28 = 4,

8#40 = ?

https://dl.doubtnut.com/l/_ncCT3dfLvcNK
https://dl.doubtnut.com/l/_721GlT9N2kmq


76. If 2%4 = 60`, then what is the value of 5 % 4 = ?

A. 16

B. 9

C. 90

D. 20

Answer: C

Watch Video Solution

3 % 2 = 50,

77. If  then what is the value of 

A. 8

B. 14

C. 6

D. 49

23$35 = 13, 3$5 = 8 4$13 = ?

https://dl.doubtnut.com/l/_AbSwB3PKLGD8
https://dl.doubtnut.com/l/_rn16wGwp8Z6j


Answer: A

Watch Video Solution

78. If  and , then 

A. 76

B. 70

C. 62

D. 86

Answer: D

Watch Video Solution

19 + 4#5 = 39 21#5 + 6 = 111 11 + 15#5 = ?

79. If  and  then 

A. 25

14#3  @ 4 = 46 19#4  @ 3 = 79 21#4  @ 1 = ?

https://dl.doubtnut.com/l/_rn16wGwp8Z6j
https://dl.doubtnut.com/l/_D4rKHMaSmmiI
https://dl.doubtnut.com/l/_v1xfG6lazoMm


B. 92

C. 85

D. 97

Answer: C

Watch Video Solution

80. If  and , then 

A. 11014

B. 41011

C. 14610

D. 10114

Answer: B

Watch Video Solution

8 × 16 × 9 = 8169 9 × 23 × 4 = 9234 4 × 10 × 11 = ?

https://dl.doubtnut.com/l/_v1xfG6lazoMm
https://dl.doubtnut.com/l/_A0p7mbsJUcPt
https://dl.doubtnut.com/l/_8RURzz5iNV3Y


81. If  and , then 

A. 16

B. 18

C. 4

D. 10

Answer: B

Watch Video Solution

4  @ 9#3 = − 2 11#2  @ 6 = 7 14  @ 3#7 = ?

82. If  and  then 

A. 79993

B. 37999

C. 39979

D. 39997

66  @ 17  @ 53 = 641551 17  @ 9  @ 99 = 15797

41  @ 11  @ 81 = ?

https://dl.doubtnut.com/l/_8RURzz5iNV3Y
https://dl.doubtnut.com/l/_orTZJbKGkBh2


Answer: C

Watch Video Solution

83. If 1 $ 9 & 5 = 14 and 2 & 4 $ 3 = 14, then 7 $ 9 & 9 = ?

A. 72

B. 70

C. 68

D. 64

Answer: B

Watch Video Solution

84. If 8 * 9 # 3 = 51 and 12 * 6 # 4 = 72, then 13 * 11 # 6 = ?

A. 156

https://dl.doubtnut.com/l/_orTZJbKGkBh2
https://dl.doubtnut.com/l/_9eeeeCd19wPi
https://dl.doubtnut.com/l/_sSLN2v8rZgai


B. 128

C. 136

D. 144

Answer: D

Watch Video Solution

85. If  and  then 

A. 11

B. 14

C. 17

D. 18

Answer: B

Watch Video Solution

14#13 = 9 27#36 = 18, 46#31 = ?

https://dl.doubtnut.com/l/_sSLN2v8rZgai
https://dl.doubtnut.com/l/_YpdMinCxFSdt
https://dl.doubtnut.com/l/_l3KhmwZSsVzv


86. If -4$1 = 4, 7$-7 = 49 and 3$1 = -3, then find the value of -8$-5 = ?

A. 

B. 92

C. 

D. 

Answer: C

Watch Video Solution

−1

−40

−69

87. If ,then find the value

of 60@3 = ?

A. 45

B. 

C. 

D. 

40@8 = − 5, 30@3 = − 10 and 20@5 = − 4

−20

−5

−36

https://dl.doubtnut.com/l/_l3KhmwZSsVzv
https://dl.doubtnut.com/l/_tb2hWaicU1WU


TYPE-II

Answer: B

Watch Video Solution

1. Which one of the following is correct? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6 ∗ 3 ∗ 4 ∗ 45

÷ , + , >

÷ , > , +

> , ÷ , +

+, > , ÷

https://dl.doubtnut.com/l/_tb2hWaicU1WU
https://dl.doubtnut.com/l/_XtamJOjXySwz


2. In the following question,  stands for any of the mathematical signs

at different places, which are given as choices under each question. Select

the choice with the correct sequence of signs which when substituted

makes the question as a correct equation. 

A. 

B. 

C. 

D. 

Watch Video Solution

Δ

24Δ4Δ5Δ4

× + =

= × +

+ × =

= + ×

3.  Which set of symbols can replace 

A. 

B. 

25 ∗ 2 ∗ 6 = 4 ∗ 11 ∗ 0 ∗ ?

× , − , × , +

+, − , × , +

https://dl.doubtnut.com/l/_a9JYI2f8sFFx
https://dl.doubtnut.com/l/_llaCw3ojcZ30


C. 

D. 

Answer: A

Watch Video Solution

× , + , × , −

× , + , + , ×

4. Which one of the following responses is correct ? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8 ∗ 5 ∗ 27 ∗ 3 ∗ 16

× , = , − , +

−, = , × , +

× , = , + , −

+, − , = , ×

https://dl.doubtnut.com/l/_llaCw3ojcZ30
https://dl.doubtnut.com/l/_uwKLNKYm6iei
https://dl.doubtnut.com/l/_NYJdi7VYXSwO


5. Which one of the following is correct? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

96 ∗ 6 ∗ 8 ∗ 2

÷ , = , ×

× , = , ÷

= , ÷ , ×

= , × , ÷

6. What should be the correct signs of the equation to arrive at the given

answer ? 

A. 

B. 

17 ∗ 3 ∗ 6 ∗ 45

× , = , −

−, × , =

https://dl.doubtnut.com/l/_NYJdi7VYXSwO
https://dl.doubtnut.com/l/_WYvmePBQhx4J


C. 

D. 

Answer: D

Watch Video Solution

= , × , −

× , − , =

7. What should be the correct signs of the equation to arrive at the given

answer ? 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 ∗ 2 ∗ 1 ∗ 7

× , + , =

+, × , =

= , × , +

× , = , +

https://dl.doubtnut.com/l/_WYvmePBQhx4J
https://dl.doubtnut.com/l/_fdKqZ7j3Quqb


8. In the following question you have to identify the correct response

from the given premises stated according to following symbols. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12 ∗ 3 ∗ 4 ∗ 8 = 0

− + +

÷ + ÷

− − −

÷ + −

9. Which alternative clearly indicates the rule followed in the following set

of numbers? 

A. 

7 ∗ 4 ∗ 8 ∗ 2 = 24

−, × , ×

https://dl.doubtnut.com/l/_fdKqZ7j3Quqb
https://dl.doubtnut.com/l/_k3iJUM3KVtli
https://dl.doubtnut.com/l/_x8QTgbN6MrYG


B. 

C. 

D. 

Answer: C

Watch Video Solution

−, × , +

× , − , ÷

× , + , −

10. Select the correct set of symbols which will fit in the given equation

5 0 3 5 = 20.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ − ×

× + ×

− + ×

× × ×

https://dl.doubtnut.com/l/_x8QTgbN6MrYG
https://dl.doubtnut.com/l/_RajzLD8fSoc0


11. Select the correct set of symbols which will fit in the given equation. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

23 ∗ 26 ∗ 27

+3 = , × 1 =

× 3 = , × 1 =

+3 = , + 1 =

× 3 = , + 1 =

12. Select the correct set of symbols which will fit in the given equation. 

A.  and +

B.  and 

65 ∗ 40 ∗ 11 = 36

−

× ÷

https://dl.doubtnut.com/l/_RajzLD8fSoc0
https://dl.doubtnut.com/l/_kPjPOZ7W82gd
https://dl.doubtnut.com/l/_HskmUntfz5ly


C.  and +

D.  and 

Answer: A

Watch Video Solution

÷

+ ×

13. Choose proper signs for sequential operations to produce the

resultant figure: 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

31 ∗ 1 ∗ 2 ∗ 1 ∗ 16

× ÷ × =

− + ÷ =

+ − × =

− ÷ + =

https://dl.doubtnut.com/l/_HskmUntfz5ly
https://dl.doubtnut.com/l/_HYXl1Xx62TfI


14. The symbols for addition (+), subtraction (-). multiplication  and

division  will have to be inserted in the blank  in order to get

answer 3 as shown in the equation: 

 


Find out which set below is correct.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( × )

( ÷ ) ∗

− + ÷ ×

+ − × ÷

× − ÷ +

÷ + × −

https://dl.doubtnut.com/l/_HYXl1Xx62TfI
https://dl.doubtnut.com/l/_n7eXpNzPYX1i


15. In the following equation, select correc combination of mathematical

sings to replace  signs and to balance the equation 


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∗

16 ∗ 4 ∗ 5 ∗ 9 ∗ 1

+ ÷ = ×

÷ + = ×

× = + −

+ × = ÷

16. Select the correct combination of mathematical signs to replace signs

and to balance the following equation. 

A. 

7 ∗ 5 ∗ 5 ∗ 4 ∗ 10

+ ÷ − =

https://dl.doubtnut.com/l/_anRBkCJZtIQG
https://dl.doubtnut.com/l/_lQjtnHZPpBCd


B. 

C. 

D. 

Answer: C

Watch Video Solution

× − = ×

× + = ×

+ × ÷ =

17. If  then what should 

be?

A. 32

B. 25

C. 86

D. 55

Answer: D

Watch Video Solution

34 ∗ 12 = 23, 28 ∗ 76 = 52, 97 ∗ 39 = 68 37 ∗ 73

https://dl.doubtnut.com/l/_lQjtnHZPpBCd
https://dl.doubtnut.com/l/_8TtfKsS8cXUq


18. Select the correct combination of mathematical signs to replace signs

so as to balance the equation. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

8 ∗ 8 ∗ 1 ∗ 11 ∗ 11

+ = ÷ −

× + = ÷

÷ × + =

− + = ÷

19. Substitute the correct mathematical symbols in place of in the

following equation: 

16 ∗ 4 ∗ 5 ∗ 14 ∗ 6

https://dl.doubtnut.com/l/_8TtfKsS8cXUq
https://dl.doubtnut.com/l/_DL7psJBApe9Z
https://dl.doubtnut.com/l/_uXcZXaS1nE0v


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

÷ − = ×

− × + =

÷ × = +

÷ + = −

20. Substitute the arithmetical signs in the place of in the following

equation : 

A. 

B. 

C. 

D. 

7 ∗ 7 ∗ 2 ∗ 1 = 12

× − ÷

+ − ×

× − +

+ × −

https://dl.doubtnut.com/l/_uXcZXaS1nE0v
https://dl.doubtnut.com/l/_4fbmQDlzqtgM


Answer: B

Watch Video Solution

21. Some equations have been solved on the basis of a certain system.

Find the correct answer for the unsolved equation on that basis. If 9* 7 =

32, 13 * 7 = 120, 17 *9 = 208, then 19 * 11 = ?

A. 150

B. 180

C. 210

D. 240

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_4fbmQDlzqtgM
https://dl.doubtnut.com/l/_peTbto8ViEGd


22. Which sequence of mathematical symbols can replace * in the given

equation: 8*5*9*31. 

दिए गए समीकरण को संतुष्ट करने के  लिए * के  स्थान पर किस समूह के  चिन्ह आएंगे ?
8*5*9*

31

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

− × =

− = ×

= × −

× − =

23. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

∗

4 ∗ 6 ∗ 6 ∗ 2 ∗ 20

https://dl.doubtnut.com/l/_jPMjaqF9RIxi
https://dl.doubtnut.com/l/_fWHle4jGWogs


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ ÷ = ÷

× − + =

+ − = ÷

− + = ÷

24. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

A. 

B. 

C. 

D. 

⋆

8 ⋆ 5 ⋆ 2 ⋆ 72 ⋆ 4

= × + ÷

× = + ÷

× + = ÷

+ × = ÷

https://dl.doubtnut.com/l/_fWHle4jGWogs
https://dl.doubtnut.com/l/_aStDsbemEkZa


Answer: D

Watch Video Solution

25. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∗

15 ∗ 3 ∗ 5 ∗ 20 ∗ 2

+ − = ÷

× − = ×

+ = + ×

× − = ÷

https://dl.doubtnut.com/l/_aStDsbemEkZa
https://dl.doubtnut.com/l/_agFbMkeLdmkj


26. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∗

2 ∗ 3 ∗ 2 ∗ 4 ∗ 8

+ − + =

× − + =

− + × =

× + − =

27. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

A. 

∗

16 ∗ 2 ∗ 24 ∗ 3 ∗ 6

+ = − ÷

https://dl.doubtnut.com/l/_dQlaoiSik0qn
https://dl.doubtnut.com/l/_tmAS2WIyyPYc


B. 

C. 

D. 

Answer: D

Watch Video Solution

× − + =

+ ÷ = ÷

− − ÷ =

28. Select the correct combination of mathematical signs to replace signs

and to balance the given equation. 

A. 

B. 

C. 

D. 

Answer: D

16 ∗ 4 ∗ 3 ∗ 4 ∗ 13

÷ × − =

× − + =

+ = ÷ ×

− × ÷ =

https://dl.doubtnut.com/l/_tmAS2WIyyPYc
https://dl.doubtnut.com/l/_8z2TJIP01B53


Watch Video Solution

29. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∗

6 ∗ 15 ∗ 10 ∗ 3 ∗ 12

÷ + = ×

+ ÷ × =

× ÷ + =

+ − = ÷

30. Select the correct combination of mathernatical signs to replace 

signs and to balance the given equation. 

∗

18 ∗ 6 ∗ 3 ∗ 12 ∗ 24

https://dl.doubtnut.com/l/_8z2TJIP01B53
https://dl.doubtnut.com/l/_k01TKrHpijwz
https://dl.doubtnut.com/l/_1rFmgT1cJdrG


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ − = ×

× ÷ − =

+ ÷ × =

× = ÷ +

31. Select the correct combination of mathernatical signs to replace 

signs and to balance the given equation. 

A. 

B. 

C. 

D. 

∗

16 ∗ 4 ∗ 64 ∗ 4

× , < , ÷

× , > , ÷

÷ , > , ×

× , > , +

https://dl.doubtnut.com/l/_1rFmgT1cJdrG
https://dl.doubtnut.com/l/_ebNBGc77HuBZ


Answer: B

Watch Video Solution

32. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation: 

A. 

B. 

C. `- xx +

D. 

Answer: A

Watch Video Solution

∗

28 ∗ 4 ∗ 9 ∗ 16

÷ + =

+ ÷ =

− = ×

https://dl.doubtnut.com/l/_ebNBGc77HuBZ
https://dl.doubtnut.com/l/_oP680O2ZVhOp


33. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∗

16 ∗ 6 ∗ 4 ∗ 24

÷ = ×

× = × :

= + ÷

× ÷ =

34. Choose the appropriate combination of signs to solve. 

A. 

B. 

16 ∗ 8 ∗ 1 ∗ 8

= − ÷

− ÷ =

https://dl.doubtnut.com/l/_PuXUEVmWN8Hb
https://dl.doubtnut.com/l/_h58jUNbRFWzI


C. 

D. 

Answer: B

Watch Video Solution

÷ − =

÷ = −

35. Select the correct combination of mathematical signs to replace 

signs and to balance the following equation 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∗

9 ∗ 3 ∗ 3 ∗ 3 ∗ 6

÷ × − =

+ − × =

− + + =

× + − =

https://dl.doubtnut.com/l/_h58jUNbRFWzI
https://dl.doubtnut.com/l/_UXDOGKnZAfZp


36. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∗

8 ∗ 6 ∗ 96 ∗ 2 = 0

× ÷ −

× − ÷

− × ÷

÷ − ×

37. If , then what should  be?

A. 

B. 12

264 ∗ 2 = 6, 870 ∗ 3 = 11 735 ∗ 5

05

https://dl.doubtnut.com/l/_UXDOGKnZAfZp
https://dl.doubtnut.com/l/_68cabIYrCli2
https://dl.doubtnut.com/l/_ttdoFpqROelY


C. 16

D. 

Answer: B

Watch Video Solution

03

38. Find the correct group of signs to solve the equation. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

24 ∗ 16 ∗ 8 ∗ 32

+ − =

÷ − =

− + =

× ÷ =

https://dl.doubtnut.com/l/_ttdoFpqROelY
https://dl.doubtnut.com/l/_RztkeBKwqWqx
https://dl.doubtnut.com/l/_6vFlmvO6ujnl


39. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∗

15 ∗ 24 ∗ 3 ∗ 6 ∗ 17

− ÷ + =

+ ÷ − =

+ × = ÷

− × = +

40. Select the correct combination of mathematical signs to replace signs

and to balance the given equation.5*5*5*3*10

A. 

B. 

× + = ×

+ − × =

https://dl.doubtnut.com/l/_6vFlmvO6ujnl
https://dl.doubtnut.com/l/_cDpDkHNgqA8L


C. 

D. 

Answer: A

Watch Video Solution

+ ÷ = ×

+ ÷ × =

41. Select the correct combination of mathematical signs to replace signs

and to balance the following equation: 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

21 ∗ 7 ∗ 6 ∗ 9

+ ÷ =

÷ + =

= + ÷

÷ = +

https://dl.doubtnut.com/l/_cDpDkHNgqA8L
https://dl.doubtnut.com/l/_wdTJielXw2G5


42. Select the correct combination of mathematical signs to replace 

signs and to balance the following equation. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

⋅

6 ∗ 4 ∗ 12 ∗ 12

÷ − =

+ − ÷

= − ÷

× − =

43. Select the correct combination of mathematical signs to replace 

signs and to balance the following equation 

A. 

∗

8 ∗ 8 ∗ 1 ∗ 7 = 8

× ÷ +

https://dl.doubtnut.com/l/_wdTJielXw2G5
https://dl.doubtnut.com/l/_fIHgPAR49hP1
https://dl.doubtnut.com/l/_kCBQ67byVggg


B. 

C. 

D. 

Answer: C

Watch Video Solution

+ ÷ ×

÷ × +

+ × ÷

44. Insert the arithmetic operations in the following numberical figures : 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

13 ∗ 3 ∗ 4 ∗ 3 = 4

÷ × +

− × +

+ × ÷

+ ÷ ×

https://dl.doubtnut.com/l/_kCBQ67byVggg
https://dl.doubtnut.com/l/_DdZ45TfgVpJG


45. Select the correct combination of mathematical signs to replace signs

and to balance the given equation. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 ∗ 4 ∗ 3 ∗ 4 ∗ 9

+ × = −

× ÷ − =

× − + =

+ − = ÷

46. Some equations are solved on the basis of a certain system. Find the

correct answer for the unsolved equation on that basis. 

5 ∗ 6 = 35, 8 ∗ 4 = 28, 6 ∗ 8 = ?

https://dl.doubtnut.com/l/_DdZ45TfgVpJG
https://dl.doubtnut.com/l/_jQzB0yqpXhG1
https://dl.doubtnut.com/l/_VBdvPCMnciDb


A. 46

B. 34

C. 23

D. 38

Answer: A

Watch Video Solution

47. Select the correct combination of mathematical signs to replace 

signs and to balance the following equation. 

A. 

B. 

C. 

D. 

∗

12 ∗ 3 ∗ 4 = 8 ∗ 8 ∗ 6

+, × , − , ×

× , + , − , ×

× , + , × , −

× , − , × , +

https://dl.doubtnut.com/l/_VBdvPCMnciDb
https://dl.doubtnut.com/l/_UQuIExy2IOhK


Answer: C

Watch Video Solution

48. Select the correct combination of mathematical signs to replace 

signs and to balance the following equation: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∗

5 ∗ 9 ∗ 3 ∗ 6 ∗ 8

× + = ×

× − = ×

+ ÷ − =

+ × ÷ =

https://dl.doubtnut.com/l/_UQuIExy2IOhK
https://dl.doubtnut.com/l/_bD2nJuNuom6G


49. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∗

33 ∗ 11 ∗ 3 ∗ 6 = 115

+ − ×

× ÷ −

÷ × −

− × ÷

50. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation: 

A. 

∗

13 ∗ 12 ∗ 5 ∗ 4

= − +

https://dl.doubtnut.com/l/_v5vlvsQLOOpF
https://dl.doubtnut.com/l/_K1MC8zwSOhnE


B. 

C. 

D. 

Answer: B

Watch Video Solution

= + −

+ − =

− = +

51. Soms equations have been solved on the basis of a certain operation.

Find the correct answer for the unsolved equation on that basis. 

If  and , then 

A. 49

B. 64

C. 69

D. 79

Answer: A

73 ∗ 17 = 45 68 ∗ 40 = 54 83 ∗ 15 = ?

https://dl.doubtnut.com/l/_K1MC8zwSOhnE
https://dl.doubtnut.com/l/_DkRHedf0HJ3B


Watch Video Solution

52. Select the correct combination of mathematical signs to replace 

signs and to balance the following equation: 

A. 

B. 

C. 

D. none of these

Watch Video Solution

∗

(√121 ∗ 9) ∗ 5 ∗ 4 ∗ 1

− + × =

+ ÷ × =

= + × ÷

53. Select the correct combination of mathematical signs to replace the

 signs and to balance the following equation: 
∗

45 ∗ 3 ∗ 6 ∗ 2 ∗ 54

https://dl.doubtnut.com/l/_DkRHedf0HJ3B
https://dl.doubtnut.com/l/_Wzijct9AiCCM
https://dl.doubtnut.com/l/_SatzFQIV3O7i


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ × ÷ =

+ ÷ × =

+ × − =

+ ÷ − =

54. Select the correct combination of mathematical signs to replace 

signs and to balance the following equation : 

A. 

B. 

C. 

D. 

∗

8 ∗ 5 ∗ 10 ∗ 2 ∗ 25

+ × ÷ =

+ ÷ − =

× + = ×

× − = ×

https://dl.doubtnut.com/l/_SatzFQIV3O7i
https://dl.doubtnut.com/l/_cvaISoxz0zfG


Answer: C

Watch Video Solution

55. Select the correct combination of mathematical signs to replace 

signs and to balance the given equation. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∗

5 ∗ 3 ∗ 3 ∗ 5 ∗ 0

× ÷ − =

+ − ÷ =

− − + =

− × ÷ =

https://dl.doubtnut.com/l/_cvaISoxz0zfG
https://dl.doubtnut.com/l/_retnYpQ1pXkh


56. If '+' means '-', '-' means  means  and  means '+'

which combination will give you the value of '0' in 

A. 

B. 

C. 

D. none of these

Watch Video Solution

' × ' , ' × ' ' ÷ ' ' ÷ '

42 ∗ 4 ∗ 12 ∗ 20 ∗ 9?

− ÷ × +

÷ + − ×

+ − ÷ ×

57. Choose the appropriate combination of signs to solve the equation. 

A. 

B. 

C. 

(16 + 18) ∗ (21 − 11) ∗ 32 ∗ 8

− × =

− = −

+ = −

https://dl.doubtnut.com/l/_dcdEVJjsrld2
https://dl.doubtnut.com/l/_AxzTMNmN8lTJ


D. 

Answer: B

Watch Video Solution

÷ − =

58.  means multiply A by  means divide A by B, A? B means

add B to A and A=B means subtract B from A. Then find the value of 

A. 100

B. 45

C. 1000

D. 55

Answer: D

Watch Video Solution

A ∗ B B, A@B

10 ∗ 10 = 5 ∗ 10?50@10

https://dl.doubtnut.com/l/_AxzTMNmN8lTJ
https://dl.doubtnut.com/l/_XjHkGazRwuMH
https://dl.doubtnut.com/l/_5meCXwjqsqij


59. If , 


, 


 


then what should be 

A. 26

B. 42

C. 34

D. 28

Answer: D

Watch Video Solution

37 ∗ 14 = 17

69 ∗ 33 = 34

91 ∗ 125 = 72

28 ∗ 56 = ?

60. If , then what should  be? 


यदि  क्या होना चाहिए?

A. 24

5 × 3 = 19 and 8 × 5 = 49 6 × 4

5 × 3 = 19  और 8 × 5 = 49,  तो 6 × 4

https://dl.doubtnut.com/l/_5meCXwjqsqij
https://dl.doubtnut.com/l/_kmR8wamQkTuo


B. 28

C. 18

D. 16

Answer: B

Watch Video Solution

61. Complete the third equation on the basis of a certain system followed

in the first two equations. 

प्रथम दो समीकरणों के  आधार पर तीसरे समीकरण को पूर्ण कीजिये। 

1.  


3. 

A. 3795

B. 5397

C. 5973

D. 5379

5 × 4 × 2 × 1 = 1425(2)7 × 8 × 1 × 6 = 6817

9 × 3 × 7 × 5 = ?

https://dl.doubtnut.com/l/_kmR8wamQkTuo
https://dl.doubtnut.com/l/_81lIHF3Cwc7F


Answer: D

Watch Video Solution

62. If  and , then 

A. 4

B. 3

C. 8

D. 16

Answer: A

Watch Video Solution

4 ∗ 2 = 3 8 ∗ 4 = 3 21 ∗ 7 = ?

63. If 

A. 36

3 ∗ 4 = 10, 5 ∗ 8 = 18, 7 ∗ 7 = ?

https://dl.doubtnut.com/l/_81lIHF3Cwc7F
https://dl.doubtnut.com/l/_tWHO6XG6AcbC
https://dl.doubtnut.com/l/_UenZnF1qXYf1


B. 21

C. 28

D. 49

Answer: B

Watch Video Solution

64. Select the correct combination of mathematical signs to replace *

signs and to balance the equation. 

 


समीकरण को संतुलित करने के  लिए * को किस गणितीय चिह्नों के  संयोजन से परिवर्तित किया

जाएगा। 

A. 

B. 

C. 

48 ∗ 4 ∗ 6 ∗ 3 ∗ 30

48 ∗ 4 ∗ 6 ∗ 3 ∗ 30

−, + , = , ×

÷ , = , × , +

÷ , + , × , =

https://dl.doubtnut.com/l/_UenZnF1qXYf1
https://dl.doubtnut.com/l/_jBCorc6xwtn7


D. 

Answer: C

Watch Video Solution

−, = , × , +

65. If  and , then find the value of 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 ∗ 2 = 1, 2 ∗ 3 = − 1 3 ∗ 4 = − 5

7 ∗ 9 = ?

−47

−29

−2

−9

https://dl.doubtnut.com/l/_jBCorc6xwtn7
https://dl.doubtnut.com/l/_rlo7eAVq60vy


66. Some equations are solved on the basis of certain system. Find out

the correct answer for the unsolved equation on that basis. 

If , 

 


then 

A. 95

B. 45

C. 315

D. 184

Answer: A

Watch Video Solution

3 ∗ 2 ∗ 8 ∗ 4 = 632

2 ∗ 4 ∗ 4 ∗ 4 = 816

3 ∗ 3 ∗ 5 ∗ 1 = ?

67. Some equations have been solved on the basis of a certain pattern.

Find the correct answer for the unsolved equation on that basis: 

 
7 ∗ 4 ∗ 3 = 437

https://dl.doubtnut.com/l/_A6vT47DlpGov
https://dl.doubtnut.com/l/_mFllOkHrBGNN


 


A. 346

B. 364

C. 643

D. 463

Answer: B

Watch Video Solution

8 ∗ 6 ∗ 4 = 648

4 ∗ 3 ∗ 6 = ?

68. If , what should  be?

A. 73

B. 72

C. 63

D. 64

13 ∗ 45 = 29, 24 ∗ 58 = 41, 74 ∗ 32 = 53 97 ∗ 47

https://dl.doubtnut.com/l/_mFllOkHrBGNN
https://dl.doubtnut.com/l/_FJnOgajwa3VP


Answer: B

Watch Video Solution

69. Some equations have been solved on the basis of a certain pattern.

Find the correct answer for the unsolved equation on that basis: 

 


 


, then 

A. 826

B. 268

C. 286

D. 628

Answer: B

Watch Video Solution

2 ∗ 3 ∗ 5 = 523

6 ∗ 4 ∗ 1 = 164

8 ∗ 2 ∗ 4 = 482 6 ∗ 8 ∗ 2 = ?

https://dl.doubtnut.com/l/_FJnOgajwa3VP
https://dl.doubtnut.com/l/_uWNREAawUHhu
https://dl.doubtnut.com/l/_piaPIzRbaXGW


70. Some equations are solved on the basis of a certain system. Find out

the correct answer four the unsolved equation on that basis. 

, 


A. 77

B. 70

C. 66

D. 121

Answer: C

Watch Video Solution

9 ∗ 8 = 63, 7 ∗ 8 = 49

5 ∗ 6 = 25, 11 ∗ 7 = ?

71. If 38 # 49 = 24 and 96 # 51 = 21, then 87 # 78 = ?

A. 26

B. 21

https://dl.doubtnut.com/l/_piaPIzRbaXGW
https://dl.doubtnut.com/l/_zXs6Te2JySzH


C. 28

D. 30

Answer: D

Watch Video Solution

72. If 27 * 4 = 77 and 31 * 9 = 239, then 21 * 6 = ?

A. 94

B. 107

C. 99

D. 106

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_zXs6Te2JySzH
https://dl.doubtnut.com/l/_dS7ZVSD081FS


73. If  and  then 41 * 32= ?`

A. 6

B. 12

C. 10

D. 8

Answer: C

Watch Video Solution

17 ∗ 36 = 17 41 ∗ 56 = 16

74. If  and , then what is the value of A in 

A. 12

B. 14

C. 16

D. 20

(2) ∗ 4 = 2 (4) ∗ 4 = 16

(6) ∗ A = 18?

https://dl.doubtnut.com/l/_2FVqrLQx3509
https://dl.doubtnut.com/l/_ooJ2JLZ2jf03


Answer: A

Watch Video Solution

75. If  and , then in expression 

, what is the value of 'A'?

A. 6.5

B. 17.5

C. 20.5

D. 30.5

Answer: C

Watch Video Solution

6 ∗ 9 − 4 = 58 3 ∗ 9 − 7 = 34

A ∗ 4 − 9 = 91

76. If  and , then 4 ∗ 7 ∗ 2 = 361 5 ∗ 9 ∗ 1 = 480 2 ∗ 1 ∗ 3 = ?

https://dl.doubtnut.com/l/_ooJ2JLZ2jf03
https://dl.doubtnut.com/l/_1hr8s6Nz145q
https://dl.doubtnut.com/l/_w8nThIWT7dyt


TYPE-III

A. 312

B. 324

C. 210

D. 102

Answer: D

Watch Video Solution

1. After interchanging  and +, 12 and 18, which one of the following

equations becomes correct?

A. 

B. 

C. 

D. 

÷

(90 × 18) + 18 = 60

(18 + 6) ÷ 12 = 2

(72 ÷ 18) × 18 = 72

(12 + 6) × 18 = 36

https://dl.doubtnut.com/l/_w8nThIWT7dyt
https://dl.doubtnut.com/l/_hAuI83lOf9Bc


Answer: D

Watch Video Solution

2. After interchanging  and =, 2 and 3 which one of the following

statements becomes correct?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

÷

15 = 2 ÷ 3

5 ÷ 15 = 3

2 = 15 ÷ 3

3 = 2 ÷ 15

3. Which of the following interchange of signs would make the given

equation correct? 

https://dl.doubtnut.com/l/_hAuI83lOf9Bc
https://dl.doubtnut.com/l/_TX1e3oibT9DD
https://dl.doubtnut.com/l/_oXreRzvggTCd


A.  and 

B. 6 and 7

C.  and +

D. 12 and 3

Answer: C

Watch Video Solution

(12 ÷ 6) + 3 × 7 = 42

+ ×

÷

4. Which interchange of signs will make the following equation correct ? 

A.  and -

B.  and 

C.  and +

D.  and 

35 + 7 × 5 ÷ 5 − 6 = 24

+

+ ×

÷

− ÷

https://dl.doubtnut.com/l/_oXreRzvggTCd
https://dl.doubtnut.com/l/_ykLBNU3Feuqu


Answer: C

Watch Video Solution

5. Which of the following interchanges of signs would make the given

equation correct? 

A.  and 

B.  and -

C.  and +

D.  and 

Answer: C

Watch Video Solution

24 + 6 × 3 ÷ 3 − 1 = 14

+ ×

×

÷

− ÷

https://dl.doubtnut.com/l/_ykLBNU3Feuqu
https://dl.doubtnut.com/l/_0Yp3LYV4T5Dv


6. Which of the following interchange of signs or figures would make the

given equation correct? 

A.  and 

B. 5 and 10

C.  and -

D. 5 and 2

Answer: C

Watch Video Solution

(5 + 2) × 2 − 10 = 16

+ ×

+

7. Which interchange of signs will make the following equation correct? 

A.  and 

B.  and +

30 − 6 ÷ 4 + 2 × 3 = 7

+ ×

−

https://dl.doubtnut.com/l/_GPApK35fMrfn
https://dl.doubtnut.com/l/_lCOjo6FO9uql


C.  and 

D.  and -

Answer: C

Watch Video Solution

− ÷

+

8. Which of the following interchanges of signs would make the given

equation correct? 

A.  and 

B.  and 

C.  and 

D.  and -

Answer: A

Watch Video Solution

5 + 6 ÷ 3 − 12 × 2 = 17

÷ ×

+ ×

+ ÷

+

https://dl.doubtnut.com/l/_lCOjo6FO9uql
https://dl.doubtnut.com/l/_3t4UMZfh2MZg


9. Which interchange of signs or numbers will make the following

equation correct? 

A. 2 and 3

B.  and -

C. 7 and 3

D.  and 

Answer: D

Watch Video Solution

(7 + 2) × 3 × 4 − 1 = 20

×

+ ×

10. Which interchange of signs will make the following equation correct? 

A.  and -

(16 − 4) × 6 ÷ 2 + 8 = 30

÷

https://dl.doubtnut.com/l/_3t4UMZfh2MZg
https://dl.doubtnut.com/l/_AyazLn26nwzr
https://dl.doubtnut.com/l/_lcGfKcDntJ3f


B. 4 and 2

C.  and +

D. 16 and 6

Answer: A

Watch Video Solution

−

11. Which one of the four interchanges in signs and numbers would make

the given equation correct? 

A.  and , and 4

B.  and , 2 and 4

C.  and , 4 and 6

D. None of these

Answer: C

6 × 4 + 2 = 16

+ ×

+ ×

+ ×

https://dl.doubtnut.com/l/_lcGfKcDntJ3f
https://dl.doubtnut.com/l/_uG6JMMeoalqQ


Watch Video Solution

12. Which of the following interchange of sign would make the given

equation correct? 

A.  and -

B. 5 and 5

C. and -

D. 16 and 6

Answer: C

Watch Video Solution

(20 − 4) × 4 + 16 = 36

+

÷

13. Which of the following inter change of signs would make the given

equation correct? 

2 × 3 + 6 − 12 ÷ 4 = 17

https://dl.doubtnut.com/l/_uG6JMMeoalqQ
https://dl.doubtnut.com/l/_Hx9EALjVUMyW
https://dl.doubtnut.com/l/_DilcdZE4LUZ0


A.  and +

B.  and -

C.  and 

D.  and 

Answer: A

Watch Video Solution

×

+

+ ÷

− ÷

14. In each of the following questions, which of the following interchange

of signs would make the given equation correct? 

A.  and -

B.  and 

C.  and 

D.  and +

10 + 10 ÷ 10 − 10 × 10 = 10

+

+ ÷

+ ×

÷

https://dl.doubtnut.com/l/_DilcdZE4LUZ0
https://dl.doubtnut.com/l/_NjkDoReOfXz5


Answer: C

Watch Video Solution

15. In each of the following questions, which of the following interchange

of signs would make the given equation correct? 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(8 − 8) + 8 × 32 = 64

× , + , −

−, ÷ , +

+, ÷ , +

+, ÷ , ×

https://dl.doubtnut.com/l/_NjkDoReOfXz5
https://dl.doubtnut.com/l/_XXyG9EhlcEhJ


16. Which of the following interchanges of number would make the

following equation correct?


A. 3,9

B. 3,8

C. 8,9

D. 3,5

Answer: D

Watch Video Solution

8 × + 9 − 5 = 38
20

3

17. Which of the following interchange of signs or numbers would make

the given equation correct? 

A. 

(18 ÷ 9) + 3 × 5 = 45

× and ÷

https://dl.doubtnut.com/l/_l8KccXLAj3Gr
https://dl.doubtnut.com/l/_i0J3wjYyf210


B. 

C. 18 and 5

D. 3 and 9

Answer: B

Watch Video Solution

+ and ÷

18. Which of the following interchange of signs would make the equation

correct ? 

A.  and 6

B.  and 8

C.  and 8

D.  and 22

Answer: C

8 × 6 + 2 = 22

+, × , 2

+, × , 2

+, × , 6

+, × , 2

https://dl.doubtnut.com/l/_i0J3wjYyf210
https://dl.doubtnut.com/l/_lDqgSlWb6ll1


Watch Video Solution

19. Which of the following interchange of signs would make the given

equation correct (only first symbol changed) ? 

A.  and -

B.  and 

C.  and 

D.  and 

Answer: C

Watch Video Solution

64 × 8 − 9 ÷ 8 = 64

+

÷ ×

− ÷ :

− ×

20. After interchanging  and  and 5 which one of the following

becomes a correct equation ? 

÷ × , 10

https://dl.doubtnut.com/l/_lDqgSlWb6ll1
https://dl.doubtnut.com/l/_LHCthfIAQS70
https://dl.doubtnut.com/l/_QNyovlIkshNY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(30 ÷ 5) × 10 = 24

(30 × 10) ÷ 5 = 60

(3 ÷ 10) × 5 = 18

(10 ÷ 30) × 5 = 70

21. Which of the following interchange of signs would make the given

equation correct? 

A.  and -

B.  and +

C.  and +

D.  and 

(6 + 3) + (4 × 7) = 25

+

÷

×

÷ ×

https://dl.doubtnut.com/l/_QNyovlIkshNY
https://dl.doubtnut.com/l/_u3eZ01nT7fAl


Answer: C

Watch Video Solution

22. Change the sign to find the equation 

A. Change + into 

B. Change  into +

C. Change - into +

D. Change + into -

Answer: A

Watch Video Solution

28 − 7 + 2 × 2 = 0

×

×

23. What sign should be changed to make the equation 

 correct?

5 + 6 ÷

3 − 12 × 2 = 17

https://dl.doubtnut.com/l/_u3eZ01nT7fAl
https://dl.doubtnut.com/l/_fWZcw1A1GU4l
https://dl.doubtnut.com/l/_hyzQnxv7DgOD


A. 

B. 

C. 

D. None of these

Watch Video Solution

÷ ×

+ ×

− +

24. Which of the following interchange of signs would make the equation

correct? 

A.  and  & 4

B.  and  & 6

C.  and  & 6

D.  and  & 4

Answer: B

6 × 4 + 2 = 16

+ × , 2

+ × , 4

+ × , 2

+ × , 3

https://dl.doubtnut.com/l/_hyzQnxv7DgOD
https://dl.doubtnut.com/l/_YfkJ6Q6SxkJR


Watch Video Solution

25. Interchange of signs and numbers would make the given equation

correct. 

A.  and ,2 and 3

B.  to x,3 and 2

C.  to  ,3 and 2

D.  to , 3 and 2

Answer: D

Watch Video Solution

6 + 2 − 3 = 16

+ −

+

− ÷

+ ÷

26. After interchangeing+and 8 and 7, which one of the following

becomes correct?

https://dl.doubtnut.com/l/_YfkJ6Q6SxkJR
https://dl.doubtnut.com/l/_F5uSV5JBYmA0
https://dl.doubtnut.com/l/_P0T6BbZWTeSG


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

8 − 7 + 3 × 5 = 35

7 × 8 + 6 − 9 = 25

6 + 8 × 2 − 7 = 0

8 × 2 + 7 − 6 = 9

27. Which of the following interchange of signs would make the equation

correct? 

 


निम्नलिखित में से किन चिह्नों को आपस में बदलने से समीकरण सही हो जाएगी? 

A.  and 

B.  and 

C.  and 

5 + 3 × 8 − 12 ÷ 4 = 13

5 + 3 × 8 − 12 ÷ 4 = 3

− ÷

+ ×

+ ÷

https://dl.doubtnut.com/l/_P0T6BbZWTeSG
https://dl.doubtnut.com/l/_UQevkMj63Yyb


D.  and -

Answer: A

Watch Video Solution

+

28. In the following question, correct the equation by interchanging two

signs. 

A.  and 

B.  and 

C.  and +

D.  and 

Answer: C

Watch Video Solution

43 + 9 − 6 ÷ 3 × 8 = 50

÷ ×

+ ÷

−

− ×

https://dl.doubtnut.com/l/_UQevkMj63Yyb
https://dl.doubtnut.com/l/_p4DbzrValDwl
https://dl.doubtnut.com/l/_8BGBbmdLkH0a


29. In the following question, correct the equation by interchanging any

two numbers. 

A. 5 and 9

B. 3 and 6

C. 6 and 9

D. 5 and 3

Answer: B

Watch Video Solution

5 + 3 ÷ 6 × 9 − 2 = 21

30. In the following question, correct the equation by interchanging two

signs. 

A.  and 

B.  and 

7 × 6 + 5– 12 ÷ 3 = 41

+ ÷

× ÷

https://dl.doubtnut.com/l/_8BGBbmdLkH0a
https://dl.doubtnut.com/l/_oVrIq6pjcXS0


C.  and -

D.  and -

Answer: C

Watch Video Solution

+

×

31. In the following question, correct the equation by inter changing two

signs: 

A.  and =

B.  and 

C.  and -

D.  and -

Answer: D

Watch Video Solution

6 + 8 ÷ 4 − 4 = 8

÷

÷ +

÷

+

https://dl.doubtnut.com/l/_oVrIq6pjcXS0
https://dl.doubtnut.com/l/_K0aWk4iCig3W


32. In the following question, correct the given equation by interchanging

two numbers. 

A. 3 and 4

B. 4 and 8

C. 5 and 3

D. 5 and 9

Answer: C

Watch Video Solution

8 × 3 ÷ 4 + 9 − 5 = 16

33. In the following question, correct the equation by interchanging the

two signs. 

A.  and 

6 ÷ 17 × 17 + 6 − 12 = 0

× ÷

https://dl.doubtnut.com/l/_K0aWk4iCig3W
https://dl.doubtnut.com/l/_T5P8n6dfrnZ5
https://dl.doubtnut.com/l/_t9KUsmDcSvXq


B.  and 

C.  and -

D.  and 

Answer: A

Watch Video Solution

+ ÷

+

− ÷

34. By interchanging which two signs the equation will be correct? 

A.  and -

B.  and 

C.  and 

D.  and +

Answer: B

Watch Video Solution

16 + 31 − 3 × 93 ÷ 11 = 966

+

− ÷

÷ ×

×

https://dl.doubtnut.com/l/_t9KUsmDcSvXq
https://dl.doubtnut.com/l/_qL8ya9mPu9Tb


35. By interchanging which two digits the equation will be correct? 

A. 6 and 2

B. 2 and 3

C. 3 and 6

D. 2 and 4

Answer: C

Watch Video Solution

43 ÷ 2 × 26 − 2 = 527

36. By interchanging which two signs the equation will be correct? 

A.  and -

B.  and -

19 + 36 × 12 ÷ 4 − 26 = 5

+

÷

https://dl.doubtnut.com/l/_qL8ya9mPu9Tb
https://dl.doubtnut.com/l/_Tzq3hGD9aSgk
https://dl.doubtnut.com/l/_iFdL1zjJ3Eds


C.  and 

D.  and 

Answer: C

Watch Video Solution

× ÷

+ ×

37. The following equation is incorrect. Which two signs should be

interchanged to correct the equation? 

A.  and -

B.  and 

C.  and +

D.  and -

Answer: C

Watch Video Solution

12 + 10 − 28 ÷ 7 × 4 = 48

÷

+ ÷

−

×

https://dl.doubtnut.com/l/_iFdL1zjJ3Eds
https://dl.doubtnut.com/l/_ElGRMHtrJh5Y


38. The following equation is incorrect. Which two signs should be

interchanged to correct the equation? 

A.  and 

B.  and -

C.  and 

D.  and +

Answer: B

Watch Video Solution

15 × 18 − 6 ÷ 20 + 4 = 29

+ ×

÷

+ ÷

−

https://dl.doubtnut.com/l/_ElGRMHtrJh5Y
https://dl.doubtnut.com/l/_CoBWArCoPEPP

